

OFFICE OF THE SENIOR SUPERINTENDENT OF POLICE JAMSHORO

NO. 2-722-24 /2017. Dated. 14-12-2017

To,

M/s MOHAMMAD ALI DEPAER

b/Office Shop No.1, Tanveer Lodgement Near Burhani

Nagar Sajadabad Hyderabad. Cell No. 0306-3067867

Subject:

LETTER FOR ACCEPTANCE FOR AWARD OF CONTRACT FOR

REPAIR/RENOVATION WORK OF DIGP CAMP OFFICE HYDERABAD

F.Y 2017-2018.

It is to inform you that bid offered by you for repair & renovation work of DIGP Camp Office Hyderabad dated 15.11.2017; have been approved/accepted being lowest by the Procurement Committee. The contract Value/Bid Value of Rs.87,93,369/- (Rupees eight million seven hundred ninety three thousand three hundred sixty nine only) is given by your firm.

2/- You are therefore requested to sign contract agreement, performance security on the stamp paper of appropriate value with the undersigned within 4 days on or before without fail. After execution of Contract Agreement/Performance Security, the work order will be issued accordingly.

SENIOR SUPERINTENDENT OF POLICE - JAMSHORO

& Chairman Procurement Committee

Copy to the following for information & n/action.

- 1. The IGP Sindh Karachi.
- 2. The DIGP Hyderabad Range
- 3. The Executive Engineer, Provincial Buildings Hyderabad.
- 4. The Assistant Engineer, Provincial Buildings Div (EL) Hyderabad.
- 5. The Manager, SPPRA, Barrack No. 8, Court Road Karachi w/r to publish on website.
- 6. Order File



OFFICE OF THE SENIOR SUPERINTENDENT OF POLICE JAMSHORO

NO. 2737-40/2017

Dated.

18.12.2017

To,

M/s MOHAMMAD ALI DEPAER

b/Office Shop No.1, Tanveer Lodgement Near Burhani Nagar Sajadabad Hyderabad. Cell No. 0306-3067867

WORK ORDER

Subject:-

REPAIR & RENOVATION WORK OF DIGP CAMP OFFICE HYDERABAD F.Y 2017-2018.

Your offer dated 15.11.2017 for the above subject work:

PART "A" Civil Work

= Rs.57,16,861/

2. Non Schedule Items Civil Work

Rs.21,14,811/-

3. PART "B" W/S & S/F

AT PAR

4. PART "C" Electrification Work

AT PAR

5. E.I Work Non Schedule Items

Rs.300,087/-

Total amounting Rs.87,93,369/- being the lowest is hereby accepted.

- 2/- You should therefore please start the work within 7 days from the date of issue of this "work order" under the supervision of Assistant Engineer, Provincial Building (Buildings Div (EL) Hyderabad. The work should be completed within <u>03 months</u> as according with Bidding Documents of SPPRA Rules 2010 (amended 2016) & strictly to the standard P.W.D's specifications.
- 3/- It should be noted that any typographical mistake or error in schedule-B will be read strictly as per schedule of rates in force and that any change in schedule B/Estimate of made by Superintending Engineer/Executive Engineer or Assistant Executive Engineer in the government interest during the execution of work will be acceptable to you unconditionally.
 - a. You should also nominate your agent/supervisor to whom instructions at site.
 - **b.** If you are a body corporate or partnership you should submit necessary of attorney in favour of someone which is to receive cheque/material. A true copy of partnership deed or memo of term and articles of association should also please be supplied to this office.
 - c. Work should be carried out as per allocation of funds Rs.4.00 million,

SENIOR SUPERINTENDENT OF POLICE
JAMSHORO

& Chairman Procurement Committee

Copy to the following for information & n/action.

- 1. The IGP Sindh Karachi.
- 2. The DIGP Hyderabad Range
- 3. The Executive Engineer, Provincial Buildings Hyderabad
- 4. Assistant Engineer, Provincial Buildings Div (EL) Hyderabad. He should report the date of start of work as soon as. It is started and ensure that no excess over estimate or deviation from it may be allowed. In case of extreme need prior approval from the competent authority.
- 5. The Manager, SPPRA, Barrack No. 8, Court Road Karachi w/r to publish on website Sr.No.29921.
- 6. Order File.

SÍNDH PUBLIC PROCUREMENT REGULATORY AUTHORITY

CONTRACT EVALUATION FORM

TO BE FILLED IN BY ALL PROCURING AGENCIES FOR PUBLIC CONTRACTS OF WORKS, SERVICES & GOODS

1)	NAME OF THE ORGANIZATION / DEPTT.	OFFICE OF THE SENIOR SUPERINTENDENT OF POLICE JAMSHORO & CHAIRMAN PC DIGP CAMP OFFICE HYD
2)	PROVINCIAL / LOCAL GOVT./ OTHER	PROVINCIAL GOVT. (SINDH POLICE)
3)	TITLE OF CONTRACT	Repair&Renovation of DIGP Camp Office
4)	TENDER NUMBER	NIT: Nationl, Sukar, Awami Awaz & Express S.N. 34912
5)	BRIEF DESCRIPTION OF CONTRACT	Repair/Renovation work of DIGP Camp Office
6)	FORUM THAT APPROVED THE SCHEME	IGP SINDH KARACHI
7)	TENDER ESTIMATED VALUE	8.938 million
8)	ENGINEER'S ESTIMATE (For civil works only)	8.938 million
9)	ESTIMATED COMPLETION PERIOD (AS F	PER CONTRACT) 90 DAYS on or before
10)	TENDER OPENED ON (DATE & TIME)	15.11.2017: Time 3.00 PM
11)	NUMBER OF TENDER DOCUMENTS SOLI (Attach list of buyers)	D03
12)	NUMBER OF BIDS RECEIVED	03
13)	NUMBER OF BIDDERS PRESENT AT THE	TIME OF OPENING OF BIDS
14)	BID EVALUATION REPORT (Enclose a copy)	Yes
15)	NAME AND ADDRESS OF THE SUCCESSI	FUL BIDDER M/s Mohammad Ali Depar
16)	CONTRACT AWARD PRICE	Rs.87,93,369/-
17)	RANKING OF SUCCESSFUL BIDDER IN E (i.e. 1^{st} , 2^{nd} , 3^{rd} EVALUATION BID).	VALUATION REPORT M/s Mohammad Ali Depar
		M/s Malwa Enterprises
		M/s Wania Enterprises
18)	METHOD OF PROCUREMENT USED : - (T	ick one)
	a) SINGLE STAGE – ONE ENVELOPE	E PROCEDURE YES Domestic Domestic/ Local
	b) SINGLE STAGE – TWO ENVELOP	E PROCEDURE
	c) TWO STAGE BIDDING PROCEDU	RE
	d) TWO STAGE – TWO ENVELOPE E	BIDDING PROCEDURE
	PLEASE SPECIFY IF ANY OTHER EMERGENCY, DIRECT CONTRACTIN	METHOD OF PROCUREMENT WAS ADOPTED I

19)	APPRO	VING AUTHORITY FOR AWARD OF CONTRA	С	Procurement Committee (under the hairmanship of SSP Jamshoro)
20)	WHETI	HER THE PROCUREMENT WAS INCLUDED IN	N ANN	NUAL PROCUREMENT PLAN? Yes No
21)	ADVER	RTISEMENT:		
			Yes	Sr. No. 34912
	i)	SPPRA Website (If yes, give date and SPPRA Identification No.)		
		(if yes, give date and 511 KA Identification No.)	No	
	ii)	News Papers		
	11)	(If yes, give names of newspapers and dates)	Yes	Daily Nation, Sukar, Express (26.10.2017)
			No	
22)	NATUR	RE OF CONTRACT		Domestic/ Int.
23)		HER QUALIFICATION CRITERIA NCLUDED IN BIDDING / TENDER DOCUMEN	TOO	
		enclose a copy)	151	Yes / No
24)		HER BID EVALUATION CRITERIA NCLUDED IN BIDDING / TENDER DOCUMEN	TS?	Yes / No
	(If yes,	enclose a copy)		
25)	WHETI	HER APPROVAL OF COMPETENT AUTHORIT	YWA	S OBTAINED FOR USING A
	METHO	DD OTHER THAN OPEN COMPETITIVE BIDD	ING2	Yes No 🗸
26)	WAS B	ID SECURITY OBTAINED FROM ALL THE BI	DDER	Yes / No
27)		HER THE SUCCESSFUL BID WAS LOWEST EVENT EVALUATED BID (in case of Consultancies		ATED Yes ✓ No
28)	WHETE	HER THE SUCCESSFUL BIDDER WAS TECHN LIANT?	ICAL	LY Yes No
29)		HER NAMES OF THE BIDDERS AND THEIR ME OF OPENING OF BIDS?	QUOT	TED PRICES WERE READ OUT AT Yes No
30)		HER EVALUATION REPORT GIVEN TO	BIDD	ERS BEFORE THE AWARD OF
	CONTR (Attach	copy of the bid evaluation report)		Yes ✓ No

	31) ANY COMPLAINTS RECEIVED (If yes, result thereof)	Yes	
		No	NO complain Recived
	32) ANY DEVIATION FROM SPECIFICATIONS GIVEN IN	THE T	ENDER NOTICE / DOCUMENTS
	(If yes, give details)	Yes	
		No	No
	33) WAS THE EXTENSION MADE IN RESPONSE TIME? (If yes, give reasons)	Yes	
		No	No
	34) DEVIATION FROM QUALIFICATION CRITERIA		
	(If yes, give detailed reasons.)	Yes	
		No	
	35) WAS IT ASSURED BY THE PROCURING AGENCY BLACK LISTED?	THAT	THE SELECTED FIRM IS NOT Yes / No
	36) WAS A VISIT MADE BY ANY OFFICER/OFFICIAL OF SUPPLIER'S PREMISES IN CONNECTION WITH THE BE ASCERTAINED REGARDING FINANCING OF VISIT (If yes, enclose a copy)	PROC	UREMENT? IF SO, DETAILS TO
	37) WERE PROPER SAFEGUARDS PROVIDED ON MOB THE CONTRACT (BANK GUARANTEE ETC.)?	ILIZA'	TION ADVANCE PAYMENT IN Yes No
	38) SPECIAL CONDITIONS, IF ANY	-	
	(If yee, give Brief Description)	Yes	4
		No	No
	an apportation do not be properties.		
	Signature & Official Stamp of Authorized Officer SSP JAMSHORO		
	Authorized Officer		
FOR	OFFICE USE ONLY		
ION	OTTO OE OTHE		

<u>SPPRA, Block. No.8, Sindh Secretariat No.4-A, Court Road, Karachi</u> Tele: 021-9205356; 021-9205369 & Fax: 021-9206291

Print Save Reset

HASSAN MEMON



CONTRACT/AGREEMENT

THIS AGREEMENT made the 15th day of December 2017 between SENIOR LICETIC NOTICE JAMSHORO & CHAIRMAN PROCUREMENT COMMITTEE SSION COLOR REMAIN OF DIGP CAMP OFFICE HYDERABAD; (hereinafter called "successor, legal by Coffice Shop No.1, Tanveer Lodgement Near Burhani, Nagar Sajadabad Hyderabad. (hereinafter called "the contractor") of the other part:

WHEREAS the Procuring agency invited bids through news paper NIT Published in news paper and SPPRA Serial No.34912. for repair/ renovation of DIGP Camp Office Hyderabad and has been accepted a bid of contractor/firm in the sum of Rs.87,93,369/- (Rupees eight million seven hundred ninety three thousand three hundred sixty nine only)

NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- In this Agreement words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract referred to.
- The following documents shall be deemed to form and be read and construed as part of this Agreement, viz.:
- (a) Bid Form and the Price Schedule submitted by the Bidder;
- (b) Schedule of Requirements;
- (c) General Conditions of Contract;
- (d) Special Conditions of Contract; and
- (e) Procuring agency's Notification of Award.
- 3. In consideration of the payments to be made by the Procuring agency to the firm as hereinafter mentioned, the Supplier hereby covenants with the Procuring agency to provide the goods and services and to remedy defects therein in conformity in all respects with the provisions of the Contract
- 4. The Procuring agency hereby covenants to pay the Contractor/firm/supplier in consideration of the provision of repair of DIGP Camp office Hyderabad and services and the remedying of defects therein, the Contract Price or such other sum as may become payable under the provisions of the contract at the times and in the manner prescribed by the contract.

IN WITNESS whereof the parties hereto have caused this Agreement to be executed in accordance with their respective laws the day and year first above written.

M/S NORAMMAD ALLIDERAR BANK Gover Contractor a fundamental State Supplier Supplier

CNIC No. 4/306 -2126357-7

HASSAN MEMON



ATT BELLET HE BUS OF THE BUS BUS BUS HER AND BUS BUS BUS HER RESERVED IN MAN

Performance Security Form

enior Superintendent of Police Jamshoro

WHEREAS M/s Mohammad Ali Depar (hereinafter called "the Contractor") has undertaken, in pursuance of Contract No. NIT and SPPRA Serial No.34912 for repair of DIGP Camp Office Hyderabad (hereinafter called "the Contract").

AND WHEREAS it has been stipulated by you in the said Contract that the Contractor shall furnish you with a Performance Security for the contract value awarded to our firm of Rs.87,93,369/-.

AND WHEREAS we have agreed to give the Performance guarantee:

THEREFORE WE hereby affirm that I on behalf of my firm M/s MOHAMMAD ALI DEPAR responsible for the items which will be provided by me for the above awarded work. My security amount of 1% of bid security is adjusted in Security Deposit as performance security and separate deposit 5% Security amount from bills for maintenance period upto 6 months or June 2018 and will be kept for at the time of delivery of maintenance period.

M/S MOHAMMAD ALI DEPAR

Govt: Contractor & General Order Supplie.

S Cases Changhors

With Stome



SENIOR SUPERINTENDENT OF POLICE JAMSHORO & CHAIRMAN

Procurement Committee
DIGP CAMP OFFICE HYDERABAD

a

DIGP OFFICE HYDERABAD RANGE

1st Floor Shahbaz Building Hyderabad, Tel No. 022-9200093

BIDDING DOCUMENT

REPAIR/RENOVATION WORK OF DIGP CAMP OFFICE HYDERABAD RANGE (F.Y 2017-2018)

issued to

M/s Muhammad Ali Deepw Gout Contradors

Schedule-B

Name of Item.	Quantity	Rate	Unit	Amount.
ART "A" CIVIL WORK.				
leinforced Cement Concrete Work including All Labour & laterial Except the Cost of Steel Reinforcement & its abour for Bending & Binding which will be paid Separately. his Rate also includes All Kinds of Forms Moulds: Lifting luttering, Curing, Rendering & Finishing the Exposed wface (Including Screening & Washing of Shingle) (a) & Work in Roof, Slab, Beams, Columns, Rafts, Lintels & her Structural Members Laid in Situ or Precast Laid in Sition Complete in All Respects (I) Ratio (1:2:4) 90 Lbs, ment 2 Cft, Sand 4 Cft, Shingle 1/8" to 1/4" Gauge (S.I. 1-6 (a) (I) / P-17).	2547 Cft. Rs. Three	337.00 Hundred Thirty S	Cft.	858,339
trication of Tor Bar Steel Reinforcement for Cement ncrete including Cutting, Bending, Laying in Position, ting Joints & Fastenings including Cost of Binding Wire to includes Removeal of Rust from Bars) (S.I. No:- 8 (b) 17).		5001.70 and One Point Se	P. Cwt.	1,152,292
			1	1
ping (b) Ordinary Distemper, Oil Bound Distemper or ton Walls (S.I. No:- 54 (b) / P-13).	4811 Sft. Rs. Two Hundred	226.88 d Twenty Six Poir Paisa.	% Sft. nt Eighty Eight	10,915
oving Cement or Lime Plaster (S.I. No:- 53 / P-13).	4811 Sft. Rs. One	121.00 Hundred Twenty	% Sft.	5,821
ent Plaster 1:6 Upto 20' Feet Height (a) 1/2" Thick (S.I. 13 (b) / P-52).	11530 Sft. Rs. Two Thousan	2206.60 nd Two Hundred Paisa.	% Sft. Six Point Sixty	254,421
ant Plaster 1:4 Upto 20' Feet Height (a) 3/8" Thick (S.I. 11 (a) / P-52).	Rs. Two Thousa	2197.52 nd One Hundred nt Fifty Two Paisa		253,374
ring the Surface & Painting with Matt Finish including ag the Surface with Bathy (Silicon Carbide Rubbing Filling the Voids with Zink / Chalk / Plaster of Paris e, Applying First Coat Premix, Making the Surface h & then Painting 3 Coats with Matt Finish of Make etc Complete (New Surface) (b) 2nd & quent Coats (a + b) (Three Coats) (S.I. No:- 36 (b) /	Rs. Three Thou Poin	3444.38 sand Four Hundr t Thirty Eight Pair		397,137
ing the Surface & Painting with Weather Coating Rubbing the Surface with Rubbing Brick / Sand Filling the Voids with Chalk / Plaster of Paris & then with Weather Coat of Approved Makee (b) 2nd & uent Coat (Three Coats) (a + b) (S.I. No:- 38 (a + b)	Rs. Two Thous.	2567.95 and Five Hundre It Ninety Five Pai		95,836
ng & Fixing in Position Aluminium Channels for Hinged Doors or Alcop Made with 5 MM Thick Glass Glazing (Belgium) & Alpha (Japan) Locks Handles, Stoppers etc (b) Deluxe Model (Bronze) -83 (b) / P-108).	Rs. One Thous	1507.66 and Five Hundre Sixty Six Paisa	P. Sft. d Seven Point	556,327
s Deodar Wood Wrought Joinery in Doors & etc Fixed in Position including Chowkats Hold ges, Iron Tower Bolts, Chocks Cleats, Handles & th Hooks, etc Deodar Panelled or Panelled & Fully Glazed (b) 1-3/4" Thick (Only Shutter) (S.I. IP-58).	Rs. Nine Hun	902.93 idred Two Point N Paisa.	P. Sft. Ninety Three	317,83
		1		

Name of Item.	Quantity	Rate	Unit	Amount.
Providing & Fixing G.I. Frames / Chokhats of Size 7" x 2" or 4-1/2" x 3" for Windows Using 20 Gauge G.I. Sheet including Welded Hinges & Fixing @ Site with Necessary Hold Fasts, Filling with Cernent Sand Slurry of Ratio 1:6 & Repairing the Jambs. The Cost also iincludes All Carriage, Tools & Plants Used in Making & Fixing (S.I. No:- 29 / P-13).	201 Rft. Rs. Two Hundi	228.90 red Twenty Eight F Paisa.	P. Rft. Point Ninety	46,009
Pacca Brick Work other than Building including Striking of bints Upto 20' Feet Height in (I) (e) Cement Sand Mortar to (S.I. No:- 7 (I) (e) / P-22).		12346.65 usand Three Hund nt Sixty Five Paisa		210,263
'ament Concrete Brick or Stone Ballast 1 1/2" to 2" Gauge 1) Ratio 1:4:8 (S.I. No:- 4 (b) / P-15).	1062 Cft. Rs. Nine Thousa	9416.28 and Four Hundred	% Cft. Sixteen Point	100,001
roviding & Fixing Cement Paving Blocks Flooring having the of 197 x 97 x 60 (MM) of City / Quddra / Cobble Shape the Natural Colours, having Strength between 5000 PSI to 500 PSI including Filling the Joints with Hill Sand & Laying Specified Manner / Pattern & Design etc, Complete (S.I. 1:-71 / P-49).	800 Sft. Rs. One Hund	199.77 red Ninety Nine Po Seven Paisa.	P. Sft. oint Seventy	159,816
mantling Cement Concrete Reinforced Separating infor Cement from Concrete Cleaning & Straightening Same (S.I. No:- 20 / P-10).		5445.00 sand Four Hundre	% Cft. ed Forty Five.	48,678
Removing door with chowket. (S.I. No:- 33-a / P-13).	6 Nos Rs. One Hui	142.18 ndred Forty Two R Eighteen Paisa.	P.Nos tupees and	853
Removing Window and sky light with chowkets (S.I33-b / P-13).	2 Nos	102.85 ed Two Rupees a Paisa.	P.Nos nd Eighty Five	206
plain I/c placing compacting finishing & curring plete (I/c screening washing of stone aggregate without bring ratio 1:2:4 (SINO.5(c)P-15).	Rs. Fourteen T	14429.25		153,239
? thick topping c.c. 1:2:4 including surface finishing	3720 Sft	3275.50	% Sft	121,849
fividing into panels.(SINO.16(c) P-47)		Hundred Seventy and Fifty Paisa.	Five Rupees	9
fiel of cement concrete 12" x 8" x 1" of approved a/shape laid flat in 1:2 grey cement mortar over a bed thick grey cement mortar 1:2. (S.I. No:- 39 P-38).	Rs. Eight The	8977.90 cusand Nine Hund Rupees and Ninety		20,64
ing and fixing deodar wooden wardrobe including with back shelves, shutters drawers and brass such as handles locking arranjgement, hanger rod and mirror measuring 2' x 1' Complete as per ed design. (S.I. No:- 24 P-61).	Rs. Two Thou Rupee	2364.63 sand Three Hundi s and Sixty Three		425,633

Total Rs: 5,189,489 Add 134.00 the - 2 capter, 9-11/11-2141

Les the - 1. 9153314 5716861 9339207 5716861

	Name of Item.	Quantity	Rate	Unit	Amount.
State September 2000 Persons	NON-SCHEDULE ITEM. Providing and Fixing Ceramix Hard Floor tiles with wood texture over wall facing or floor (Size 6" x 24" x 1/2" ir above) jointed in white cement and laid over bed of 3/4"	2665 Sft	355.9	6 P.Sft	948633
	thick grey cement sand motar 1:3 washing / filling of joints with white cement etc complete in all respect. Providing and Fixing of Granite Marble 3/4" thick size (12"x48") redish / blackish over a bed of 3/4" cement mortor ratio 1:3 i/c rubbing and polishing of the joints etc complete	36 Sft	1759	P.Sft	63324
	in all respect also i/c chemical polish. Supplying & Fixing Imported Wall Paper Fixed with adhesive solution over base of matt finish putti etc	830 Sft	309	P.Sft	256470
	complete in all respects (First Quality) Supplying & Fixing of Decorative False Ceiling made of mported Gypsum Sheet 12mm Thick Fixed with M.S.	1089 Sft	380	P.Sft	413820
	Suspension & Decorative Glass. (First Glass). Froviding & Fixing English Commode Seat i/c Glazed Jushing Cistern, Nyloon Tube etc Complete. (Porta Royal Jassic Model 1st Quality or Equavalent).	5 Nos	2836	7 Each	141545
	toviding and Fixing Wash Basin 24"x18" i/c Padestal, C.P laste, Syphon System, P.V.C, Waste Pipe, Bolt Kit, floor Connection etc Complete	5 Nos	25000	Each	125000
	orta Royal Classic Model 1st Quality or Equavalent). F Indian W.C. (Porta). viding & Fixing Bath Shower Set (Wall Mounted) i/c		2479	Each Each	42020
	ephonic Shower C.P Rods etc completed.(MASTER / NEX OR EQUAVALENT).		X771	,	

Total Rs. 2114811=

	Quantity	Rate	Unit	Amount.
PART "B" W/S & S/F.				1
P/F 6"x2" or 6"x3" C.I floor trap of the approved self cleaning design with a C.I screwed down gritting with or without a vent arm complete with and i/c making req: No; of holes in walls plinth & floor for pipe connection and making good in C.C 1:2:4. (SI No:20 P-6)	12 Nos: (Rs: Two Thou	2042.43 d: Fourty Two & Three) Only	Each Ps: Fourty	24509
P/F in position nyloon connections complete with 1/2" dia brass stop cock with pair of brass nuts and lining joints to nyloon connection. (SI No:23 P-6)	The state of the s	447.15 or Hund: Fourty S Ps: Fifteen) Only	Each even	15650
P/F 4" dia C.I soil & vent pipe i/c cutting & fitting & extra painting to match the colour of the building. (SI No:1 P-9)		333.29 ee Hund: Thirty T Twenty Nine) Or		11665
P/F M.S clamps of the approved design to 4" dia C.I pipe sockets i/c the cost of cutting & making good to wall or M.S tolts & nuts, 4" into wall i/c pipe distance pieces extra painting to hatch the colour of the building. (SI No:2 P-9)	30 Nos: (Rs: Sevent)	72.16 y Two & Ps: Sixte	Each en) Only	2165
7/F 4"x4" dia C.I branch of the required degree with access bors, rubber washer 3/8" thick & bolts & nuts & extra ainting to match the colour of the building. 31 No:4 P-9)	15 Nos: (Rs: 5	702.00 Seventy Two) Or	Each	10530
F 24"x18" lav: basin in white glazed earthen ware implete with & including the cost of W.I. Or C.I. Contilever ackets 6 inches built into walls painted white in two coats for a primary coat of red lead paint a pair of 1/2" dia rome plated pillar taps, 1-1/2" dia rubber plug and rome plated brass chain 1-1/4" dia malleable iron or thrass traps malleable iron or brass union and making uisite No. of holes in walls, plinth and floor for pipe inection and making good in c.c. 1:2:4 (foreign or lextra labour for providing and fixing of earthen ware		Paisa) Only	Each Thirty Seven	31,185
estal white or coloured glazed (Standard Pattern) No. 11 P-3) steel sink stainless local make complete with cast iron rough iron bracksts 6" built in wall 1-1/2" rubber plug	(Rs: Twenty Rupees and 2 Each (Rs: Five Thou	Five Hundred Th Fourty Seven Pa	Each	10,325
PVC waste pipe and making requisite nof holes in and plinth floor for pipe connection and making good: 1:2:4 (b) steel sink stainless sized 36"x18" local in g (Standard pattern) S.I.No.19-b P-5	1			All tables in the
ing & fixing chrome plated brass towel rail complete ackets fixing on wooden cleats with 1" long c.p brass i.(a) 3/4" dia round or square (Standard Pattern)(II)	(Rs: One Thou			5415
ng & fixing 15" x 12" bavelled edge mirror of belgium omplete with 1/8" thick hard board and c.p screws wooden pleat.(a) Standard Pattern.(S.I.No.4 P-7)	(Rs: Elven Hu	1161.60 undred Sixty One Sixty Paísa) Only		5808
concealed stop cock of superior quality with nead 1/2" dia (SINO.14(b) P-15)	(Rs: Eight Hu	h 889.46 Indred Eighty Nin- urty Six Paisa) O		13,342
ing long bib- cock of superir quality with c.p head (SINO.13 P-19)		h 1,109.46 ndred Nine Rupe Six Paisa) Only		16,642

Maine of item.	Quantity	Rate	Unit	Amount.
		The state of the s	7.000	
Supplying & Fixing jet shower with rod of superior quality single c.p head 1/2" dia (S.I.No.15 P-19)	10 Each (Rs: Elven Hund Twenty	1142.24 fred Forty Two Four Paisa) (11,422
Providing F.C. pressure pipe with collar (Dedex or equivalent) I/c digging the trenche to required deoth and fixing in position and jointing with rubber rings including testing to water pressure head of 200 feet.(b) 4" dia F.C. pressure pipe. (S.I.No.3 P-25)	(Rs: One Hundr	188.44 ed Eighty Eigh Four Paisa) O		60301
Constructing manhole for the required dia of circular sewer and 7'-9" depth with walls of B.B in cement mortor 1:3 cement plastered 1:3, 1/2" thick, inside of walls and 1" (25 mm) thick over benching and channel i/c fixing C.I manhole cover with frame of clear opening 2' x 2' (610x610 mm)	(Rs: Twenty F Rupees and	2524.25 Five Hundred T Twenty Five P		25243
Providing, Laying uPVC Pressure Pipes of Class 'C' (equivalent make) fixing in trench i/c cutting, fitting and binting with 'Z' joint with one rubber ring i/c testing with water to a head 91.5meter or 300 ft. 100 mm (4" lia)(S.I.No.1 P-22)	(Rs: One Hund	174.00 Ired Seventy Fo	P.Rft our Rupees)	48720
			Total Rs.	305,589

Name of Item.	Quar	ntity	Rate	Unit	Amount.
C Schedule Item (E.I Work)					
Wiring for light or fan point with 3/.029 PVC insulated wire	60	Nos	1,130.00	Each	67,800
in 20mm (3/4") PVC conduit recessed in the wall or column as required.(S.I.No.1234 P-15)	(Rs	: Eleve	n Hundred 7	hirty Rup	ees Only)
Wiring for pug point with 3/.029 PVC insulated wire in	21	Nos	985.00	Each	20,685
20mm (3/4*) channel patti on surface as required (S.I. No. 126/P-15)	(Rs:	Nine H	undred Eigh	ty Five R	ipees Only)
Wiring for Call bell point with 3/.029 PVC insulated wire in	3	Nos	1,764.00	Each	5,292
20mm (3/4*) PVC conduit recessed in the wall or column as required (S.I. No. 128/P-15)	(Rs:	Sevent	een Hundre Onl	A STATE OF THE PARTY OF THE PAR	our Rupees
P/L (Main or Sub Main) PVC insulated with size 2-7/.029	300	MTR	222.00	P.MTR	66,600
copper conductor in (3/4") dia PVC conduit recessed in the wall or column as required(SI No.10 P-2).	(Rs:	Twó Hu	indred Twei	ity Two R	upees Only)
P/L (Main or Sub Main) PVC insulated with size 2-7/.044	250	MTR	341.00	P.MTR	85,250
copper conductor in (3/4") dia PVC conduit recessed in the wall or column as required (SI No. 12 P-2).	(Rs:	Three 1	Hundred Fo	rty One R	upees Only)
P/L (Main or Sub Main) PVC insulated with size 2-7/.064	100	MTR	641.00	P.MTR	64,100
copper conductor in (3/4") dia PVC conduit recessed in the wall or column as required (SI No. 14 P-2).	(R	s: Six H	undred Fort	y One Ru	pees Only)
P/F B.C Bakelite angular type bittern holder (S.I.No.1 P-14)	9	Nos	69.00	Each	62
		(Rs	Sixty Nine	Rupees O	nly)
P/F Circuit breaker 15, 20, 30, 40, 50, 60, 75 & 100amp TP	13	Nos	2,456.00	Each	31,92
(XS-100NS) on a prepared board as required. (Si-204, P-31)	(Rs:	Twent	y Four Hune Onl		Six Rupees
Providing & Fixing 6,10,15,20,30,40,50 & 63 amp SP(TB-	4	Nos	916.00	Each	3,66
5S) on prepared board as required.(S.I.No.204 P-31)	(R	s: Nine	Hundred Si	xteen Rup	ees Only)
Providing & fixing circuit breaker 15,20,30,40,50,60,75 &	1	Nos	9,261.00	Each	9,26
100amp TP (XS-100NS) on prepared board as required.(S.I.No.207 P-31).	(Rs:	Nine T	housand Tw Rupees		d Sixty One
P/F Bakelite ceiling rose with two terminals (S.I.No. 228 P-	10	Nos	72.00	Each	72
3)		(Rs: 3	Seventy Two	Rupees	Only)
			Total Amo	unt Part-C	355,92

	Name of Item.	Quar	itity	Rate	Unit	Amount.
	PART - B NON - SCHEDULE ITEMS P/F A.C or D.C electric bell 200/250 volts 70mm			1 22		
	(2.3/4") imported	3	Nos	280	Each	840
2	P/F 10amp[Polycarbonate flame retardant bell push with fancy base plate fixed in dia fabricated power					8
Commence of the local	coated metal board recessed in wall or column i/c connection.	3	Nos.	593	Each	1779
and the same	P/F Mild steel bar fan clamp 15.8mm (5/8") dia suitable for RCC roof	6	Nos.	321	Each	1926
With the second	S/F Distribution panel board of 3/8" thick sheeting double shutter to accommodate circuit breaker i/c painting with enameled paint	7	Sft	2408	P.Sft	16856
	P/F 1-40 watt tube light complete with 40 watt 4'-0 long rod, choke, starter and pase putty with Philips					
	components i/c necessary electric connection and fixing on wall or celling etc. complete (Philips)	4	Sft	1236	P.Sft	4944
	P/F Energy saver (18 to 24 watts) superior quality i/c fixing on existing holder etc conplete.	10	Nos	445	Each	4450
	P/F Hard drawn bare copper wire No.16 SWG as earth continuity conductor with any given mains or sub main in all system of wiring i/c metallic electrical accessories (1st class quality)		Rft	23	P.Rft	3450
The state of the state of	P/installing 140 CM (56") sweep ceiling fan with blade canopy standard length of down rod i/c connection with 14.0076" flexible wire complete as equired with dimmer (millat,pak,asia, youns, climax, oyal)		Nos.	5900	Each	35400
920 S120 C	IF 10amp polycarbonate flame retardant one way witch with fancy base plate fixed on die fabricated awder coated metallic board recessed in wall or slumn i/c connection as required (#31/2/3A Clipsal	4	Nos.	1770	Each	7080
	One Switch plate	4	Nos	410	Each	1640
)Five switch plate	2	Nos	1280	Each	2560
) Six switch plate	7	Nos	1532	Each	10724
	FLED light 18/20 watt complete i/c cutting in false ling fixing of light with necessary connection i/c ling as philips / orient etc as required.		Nos	4152	Each	166080
	10 amps polycarbonate flame retardant 2-pin tch socket unit (universal) with fancy base plate al on die fabricated powder coated metallic board		,		The state of the s	
	ssed in wall or column i/c connection as required [4U Clipsal make)	4	Nos	1803	Each	7212

Name of Item.	Quan	itity	Rate	Unit	Amount.
P/F Earth Set With 2'x2' 1/4" copper plate buried in the ground at a depth of 10 feet or les (with slat and tharcoal or earth chemical power) etc. making the pit 10 feet deep by excavation off all type of soil i/c fixing f 8-SWG copper wire in 3/4" G.I conduit complete in Il respect as required.	1	Nos	12360	Each	12360
F Exhaust fan 280mm (12") Sweep butterfly shutter in exhaust fan complete as required this rte also i/c in atting of wall & beam upto required site fixing thaust fan with connection & finishing the hole with ament etc complete in all respects (is class quality)	3	Nos	3114	Each	9342
F fancy capsule light complete with metallic body, ass shade, holder etc complete.	4	Nos	3361	Each	13444
		d	Total Part "I	3"	=300087=

Name of Item.	Quantity	Rate	Unit	Amount.
(GENERAL-ABSTRACT)		-	-	21101
RT "A" CIVIL WORK.	Rs:	5,189,489	2	31188
N-SCHEDULE ITEM.	Rs:		2	38 211
T "B" W/S & S/F.	Rs:	305,589		
RT "C" E.I WORK.	Rs:	355,921	r .	
T "C" E.I WORK. (NON-SCHEDULE ITEM).	Rs:	30008	871	
	Total Rs.	7793	3691	
	Says Rs.	7922	69/_	

IS & CONDITIONS

n premium shall be allowed on item based on Market rates sanction by competent wity outside the schedule of rates enforced.

hing shall be paid for cartage of any material what so ever brought at the sight of including the material cartage from Govt: store.

material was use in the name of work of the finish redact can be got tasted from any wed Laboratory as per directed by the Executive Engineer, In charge or his sentative all expenses in condition with such testing shall be born by the contractor tively without any re-embossment or claim against the Govt: on this account.

RACTOR

Superintedent of Police

Allahyar / Member

ive Engineer

ial Building Hyd/Member

Senior Superintendent of Police

Matiari/Member

Assistant Engineer

Provincial Buildings (EL) Hyd/Member

Senior Superintendent of Police

Jamshoro & Chairman Procurement Committee



SENIOR SUPERINTENDENT OF POLICE JAMSHORO & CHAIRMAN

Procurement Committee
DIGP CAMP OFFICE HYDERABAD

(a)

DIGP OFFICE HYDERABAD RANGE

1st Floor Shahbaz Building Hyderabad, Tel No. 022-9200093

BIDDING DOCUMENT

REPAIR/RENOVATION WORK OF DIGP CAMP OFFICE HYDERABAD RANGE (F.Y 2017-2018)

issued to

M/s

AIMA CN

Enleyner.

REPAIR & RENOVATION OF DIG HOUSE HYDERABAD. Schedule-B

	Schedule-	В			
	Name of Item.	Quantity	Rate	Unit	Amount.
PART "A" CIVII	WORK.		1		
Material Except Labour for Bendir This Rate also in Shuttering, Curin Surface (Includin R.C Work in Roc Other Structural Position Complet	ant Concrete Work including All Labour & the Cost of Steel Reinforcement & its ng & Binding which will be paid Separately. cludes All Kinds of Forms Moulds: Lifting ng, Rendering & Finishing the Exposed g Screening & Washing of Shingle) (a) f, Slab, Beams, Columns, Rafts, Lintels & Members Laid in Situ or Precast Laid in e in All Respects (I) Ratio (1:2:4) 90 Lbs, and 4 Cft, Shingle 1/8" to 1/4" Gauge (S.I. 7).		337.00 Hundred Thirty	Cft. Seven.	858,339
Concrete includie Making Joints &	or Bar Steel Reinforcement for Cement ing Cutting, Bending, Laying in Position, Fastenings including Cost of Binding Wire imoveal of Rust from Bars) (S.I. No:- 8 (b)	Rs. Five Thous	5001.70 and One Point Se	P. Cwt. eventy Paisa.	1,152,292
	inary Distemper, Oil Bound Distemper or II. No:- 54 (b) / P-13).		226.88 d Twenty Six Poir Paisa.	% Sft. nt Eighty Eight	10,915
Removing Ceme	nt or Lime Plaster (S.I. No:- 53 / P-13).	4811 Sft. Rs. One	121.00 Hundred Twenty	% Sft.	5,821
Cement Plaster 1 No:- 13 (b) / P-52	:6 Upto 20' Feet Height (a) 1/2" Thick (S.I.		2206.60 nd Two Hundred Paisa.	% Sft. Six Point Sixty	254,421
Cement Plaster 1 No:- 11 (a) / P-52	:4 Upto 20' Feet Height (a) 3/8" Thick (S.I.).	Rs. Two Thousa	2197.52 nd One Hundred nt Fifty Two Paisa		253,374
Rubbing the Sur Brick) Filling the Mixture, Applying Smooth & then Approved Make	rface & Painting with Matt Finish including face with Bathy (Silicon Carbide Rubbing Voids with Zink / Chalk / Plaster of Paris First Coat Premix, Making the Surface Painting 3 Coats with Matt Finish of etc Complete (New Surface) (b) 2nd & ts (a + b) (Three Coats) (S.I. No:- 36 (b) /	Rs. Three Thou Poin	3444.38 sand Four Hundr t Thirty Eight Pais		397,137
Preparing the Sincluding Rubbin Paper, Filling the Painting with We	Surface & Painting with Weather Coat g the Surface with Rubbing Brick / Sand Voids with Chalk / Plaster of Paris & then ather Coat of Approved Makee (b) 2nd & (Three Coats) (a + b) (S.I. No:- 38 (a + b)	Rs. Two Thous	2567.95 and Five Hundred t Ninety Five Pais		95,836
Framing for Hing Tinted Glass Gl	ixing in Position Aluminium Channels ed Doors or Alcop Made with 5 MM Thick azing (Belgium) & Alpha (Japan) Locks s, Stoppers etc (b) Deluxe Model (Bronze) P-108).	Rs. One Thous	1507.66 and Five Hundred Sixty Six Paisa.	P. Sft. d Seven Point	556,327
Windows etc Fit Fasts Hinges, Iro Cords with Hoo	dar Wood Wrought Joinery in Doors & ked in Position including Chowkats Hold on Tower Bolts, Chocks Cleats, Handles & ks, etc Deodar Panelled or Panelled & Glazed (b) 1-3/4" Thick (Only Shutter) (S.I.	Rs. Nine Hun	902.93 dred Two Point N Paisa.	P. Sft.	317,831

	Name of Item.	Quantit	у	Rate	Unit	Amount.
	Providing & Fixing G.I. Frames / Chokhats of Size 7" x 2" or 4-1/2" x 3" for Windows Using 20 Gauge G.I. Sheet including Welded Hinges & Fixing @ Site with Necessary Hold Fasts, Filling with Cement Sand Slurry of Ratio 1:6 & Repairing the Jambs. The Cost also iincludes All Carriage, Tools & Plants Used in Making & Fixing (S.I. No:- 29 / P-93).	sing 20 Gauge G.I. Sheet Rs. Two Hundred Twenty Eight Point Ninety Paisa. Sand Slurry of Ratio 1:6 & also iincludes All Carriage,			46,009	
	Pacca Brick Work other than Building including Striking of Joints Upto 20' Feet Height in (I) (e) Cement Sand Mortar 1:6 (S.I. No:- 7 (I) (e) / P-22).		Thous	12346.65 and Three Hund Sixty Five Paisa		210,263
	Cement Concrete Brick or Stone Ballast 1 1/2" to 2" Gauge (b) Ratio 1:4:8 (S.I. No:- 4 (b) / P-15).	1062 Cf Rs. Nine Tho	usan	9416.28 d Four Hundred	% Cft. Sixteen Point	100,001
	Providing & Fixing Cement Paving Blocks Flooring having Size of 197 x 97 x 60 (MM) of City / Quddra / Cobble Shape with Natural Colours, having Strength between 5000 PSI to 8500 PSI including Filling the Joints with Hill Sand & Laying in Specified Manner / Pattern & Design etc, Complete (S.I. No:- 71 / P-49).	800 Sfi Rs. One Hi	t., undre	199.77 d Ninety Nine Po Seven Paisa.	P. Sft. Pint Seventy	159,816
15	Dismantling Cement Concrete Reinforced Separating Reinfor Cement from Concrete Cleaning & Straightening the Same (S.I. No:- 20 / P-10).	894 Cf Rs. Five Th		5445.00 nd Four Hundred	% Cft. d Forty Five.	48,678
16	(a) Removing door with chowket. (S.I. No:- 33-a / P-13).	6 No Rs. One	Hund	142.18 red Forty Two Righteen Paisa.	P.Nos upees and	853
17	(b) Removing Window and sky light with chowkets (S.I. No:- 33-b / P-13).	2 No Rs. One Hu		102.85 Two Rupees an Paisa.	P.Nos d Eighty Five	206
17	C.C.plain I/c placing compacting finishing & curring complete (I/c screening washing of stone aggregate without shuttering ratio 1:2:4 (SINO.5(c)P-15).	Rs. Fourtee	n The	14429.25		153,239
19	P/L 2" thick topping c.c. 1:2:4 including surface finishing and dividing into panels.(SINO.16(c) P-47)			3275.50 undred Seventy nd Fifty Paisa.	% Sft Five Rupees	121,849
20	Khapriel of cement concrete 12" x 8" x 1" of approved design/shape laid flat in 1:2 grey cement mortar over a bed of 3/4" thick grey cement mortar 1:2. (S.I. No:- 39 P-38).	Rs. Eight	Thou	8977.90 sand Nine Hundr pees and Ninety	5) THE RESERVE OF THE	20,649
21	Providing and fixing deodar wooden wardrobe including boxing with back shelves, shutters drawers and brass fittings such as handles locking arranjgement, hanger rod shoe rod and mirror measuring 2' x 1' Complete as per approved design. (S.I. No:- 24 P-61).	Rup	nousa	2364.63 and Three Hundra and Sixty Three R		425,633

Total Rs: 5,189,489

Above 15%.

178,423

Tatal esa

3967,912

1	Name of Item.	Quantity	Rate	Unit	Amount.
2	NON-SCHEDULE ITEM.			9	
1	Providing and Fixing Ceramix Hard Floor tiles with wood texture over wall facing or floor (Size 6" x 24" x 1/2" ir above) jointed in white cement and laid over bed of 3/4" thick grey cement sand motar 1:3 washing / filling of joints	2665 Sft	355	P.Sft	446,075
	with white cement etc complete in all respect.				64,260.
2	Providing and Fixing of Granite Marble 3/4" thick size (12"x48") redish / blackish over a bed of 3/4" cement mortor	36 Sft	1785	P.Sft	54, 200.
	ratio 1:3 I/c rubbing and polishing of the joints etc complete in all respect also i/c chemical polish.	oing and polishing of the joints etc complete o i/c chemical polish.			
3	Supplying & Fixing Imported Wall Paper Fixed with adhesive solution over base of matt finish putti etc complete in all respects (First Quality)	830 Sft	305	P.Sft	a53,150.
4	Supplying & Fixing of Decorative False Ceiling made of imported Gypsum Sheet 12mm Thick Fixed with M.S Suspension & Decorative Glass. (First Glass).	1089 Sft	390	P.Sft	424,710.
5	Providing & Fixing English Commode Seat i/c Glazed Flushing Cistern, Nyloon Tube etc Complete. (Porta Royal Classic Model 1st Quality or Equavalent).	5 Nos	28,500	Each	142,500.
6	Providing and Fixing Wash Basin 24"x18" i/c Padestal, C.P Waste, Syphon System, P.V.C, Waste Pipe, Bolt Kit, Nyloon Connection etc Complete (Porta Royal Classic Model 1st Quality or Equavalent).	5 Nos	32,00.	Each	160,000.
7	P/F Indian W.C. (Porta).	5 Nos	8000	Each	40,000.
8	Providing & Fixing Bath Shower Set (Wall Mounted) i/c Telephonic Shower C.P Rods etc completed.(MASTER / SONEX OR EQUAVALENT).	5 Nos	84,5 <i>0</i> 0	Each	122,500,
	6 F			Total R	a,1 53,195

k. Io.	Name of Item.	Quantity	Rate	Unit	Amount.
-	PART "B" W/S & S/F.				
1	P/F 6"x2" or 6"x3" C.I floor trap of the approved self cleaning design with a C.I screwed down gritting with or without a vent arm complete with and i/c making req: No; of holes in walls plinth & floor for pipe connection and making good in C.C 1:2:4. (SI No:20 P-6)	12 Nos: (Rs: Two Thou	2042.43 id: Fourty Two & Pr Three) Only	Each s: Fourty	24509
2	P/F in position nyloon connections complete with 1/2" dia brass stop cock with pair of brass nuts and lining joints to nyloon connection. (SI No:23 P-6)		447.15 or Hund: Fourty Sev Ps: Fifteen) Only	Each en	15650
3	P/F 4" dia C.I soil & vent pipe i/c cutting & fitting & extra painting to match the colour of the building. (SI No:1 P-9)		333.29 ee Hund: Thirty Thi Twenty Nine) Only		11665
4	P/F M.S clamps of the approved design to 4" dia C.I pipe sockets i/c the cost of cutting & making good to wall or M.S bolts & nuts, 4" into wall i/c pipe distance pieces extra painting to match the colour of the building. (SI No:2 P-9)	30 Nos: (Rs: Seventy	72.16 Two & Ps: Sixteer	Each Only	2165
5	P/F 4"x4" dia C.I branch of the required degree with access doors, rubber washer 3/8" thick & bolts & nuts & extra painting to match the colour of the building. (SI No:4 P-9)	15 Nos: (Rs: \$	702.00 Seventy Two) Only	Each	10530
6	P/F 24"x18" lav: basin in white glazed earthen ware complete with & including the cost of W.I. Or C.I. Contilever prackets 6 inches built into walls painted white in two coats after a primary coat of red lead paint a pair of 1/2" dia chrome plated pillar taps, 1-1/2" dia rubber plug and chrome plated brass chain 1-1/4" dia malleable iron or c.p.brass traps malleable iron or brass union and making requisite No. of holes in walls, plinth and floor for pipe connection and making good in c.c. 1:2:4 (foreign or	5 Nos. (Rs: Six Thousa	6237.00 and two Hundred Th Paisa) Only	Each hirty Seven	31,185
7	Add extra labour for providing and fixing of earthen ware padestal white or coloured glazed (Standard Pattern) (S.I.No. 11 P-3)		2533.47 Five Hundred Thirt Fourty Seven Pais		12,667
8	P/F steel sink stainless local make complete with cast iron or wrough iron bracksts 6" built in wall 1-1/2" rubber plug chorme brass chain 1-1/2" C.P brass waste with 1-1/2" plate PVC waste pipe and making requisite nof holes in walls and plinth floor for pipe connection and making good in c.c 1:2:4 (b) steel sink stainless sized 36"x18" local making (Standard pattern) S.I.No.19-b P-5		5162.30 sand One Hundred and Thirty Paisa) 0		10,325
9	Providing & fixing chrome plated brass towel rail complete with brackets fixing on wooden cleats with 1" long c.p brass screws.(a) 3/4" dia round or square (Standard Pattern)(II)		1082.95 sand Eighty Two R ty Five Palsa) Only		541
10	Providing & fixing 15" x 12" bavelled edge mirror of belgium glass complete with 1/8" thick hard board and c.p screws fixed to wooden pleat.(a) Standard Pattern.(S.I.No.4 P-7)		1161.60 ndred Sixty One Ru ixty Paisa) Only	Each	580
11	S/Fixing concealed stop cock of superior quality with Crystal head 1/2" dia (SINO.14(b) P-15)	A CONTRACTOR OF STREET	n 889.46 dred Eighty Nine R rty Six Paisa) Only	The same of the second the second	13,342
12	(a) S/Fixing long bib- cock of superir quality with c.p head 1/2" dia. (SINO.13 P-19)	•	1 1109.46 idred Nine Rupees Six Paisa) Only	Each and Fourty	16,642

Sr. No.	Name of Item.	Quantity	y Rate	Unit	Amount.
13	Supplying & Fixing jet shower with rod of superior quality	10 Ea	ch 1142.24	Each	11,422
	single c.p head 1/2" dia (S.I.No.15 P-19)		lundred Forty Two enty Four Paisa) C		
14	Providing F.C. pressure pipe with collar (Dedex or	320 Rft	188.44	P.Rft	60301
	equivalent) I/c digging the trenche to required deoth and fixing in position and jointing with rubber rings including testing to water pressure head of 200 feet.(b) 4" dia F.C. pressure pipe. (S.I.No.3 P-25)		indred Eighty Eight orty Four Paisa) Or		
15	Constructing manhole for the required dia of circular sewer	10 No	s 2524.25	P.Nos	25243
	and 7'-9" depth with walls of B.B in cement mortor 1:3 cement plastered 1:3, 1/2" thick, inside of walls and 1" (25 mm) thick over benching and channel i/c fixing C.I manhole cover with frame of clear opening 2' x 2' (610x610 mm)		nty Five Hundred To and Twenty Five Pa		14
16	Providing, Laying uPVC Pressure Pipes of Class 'C'	280 Rft	174.00	P.Rft	48720
	(equivalent make) fixing in trench i/c cutting, fitting and jointing with 'Z' joint with one rubber ring i/c testing with water to a head 91.5meter or 300 ft. 100 mm (4" dia)(S.I.No.1 P-22)	(Rs: One H	lundred Seventy Fo	our Rupees)	
	H Par	1 1		Total Rs.	305,589

k. lo.	Name of Item.	Quai	ntity	Rate	Unit	Amount.
art-	C Schedule Item (E.I Work)					
1	Wiring for light or fan point with 3/.029 PVC insulated wire	60	Nos	1,130.00	Each	67,800
	in 20mm (3/4") PVC conduit recessed in the wall or column as required.(S.I.No.1234 P-15)	(Rs	: Eleve	n Hundred 7	hirty Ruj	ees Only)
2	Wiring for pug point with 3/.029 PVC insulated wire in	21	Nos	985.00	Each	20,685
	20mm (3/4") channel patti on surface as required (S.I. No. 126/P-15)	(Rs:	Nine H	undred Eigh	ty Five R	upees Only)
3	Wiring for Call bell point with 3/.029 PVC insulated wire in	3	Nos	1,764.00	Each	5,292
	20mm (3/4") PVC conduit recessed in the wall or column as required (S.I. No. 128/P-15)	(Rs:	Seven	teen Hundre Onl	50	our Rupees
4	P/L (Main or Sub Main) PVC insulated with size 2-7/.029	300	MTR	222.00	P.MTR	66,600
	copper conductor in (3/4") dia PVC conduit recessed in the wall or column as required(SI No.10 P-2).	(Rs:	Two H	undred Twer	ity Two R	upees Only)
5	P/L (Main or Sub Main) PVC insulated with size 2-7/.044	250	MTR	341.00	P.MTR	85,250
	copper conductor in (3/4") dia PVC conduit recessed in the wall or column as required (SI No. 12 P-2).	(Rs:	Three	Hundred For	rty One R	upees Only)
6	P/L (Main or Sub Main) PVC insulated with size 2-7/.064	100	MTR	641.00	P.MTR	64,100
	copper conductor in (3/4") dia PVC conduit recessed in the wall or column as required (SI No. 14 P-2).	(Rs	: Six H	undred Fort	y One Ru	pees Only)
7	P/F B.C Bakelite angular type bittern holder (S.I.No.1 P-14)	9	Nos	69.00	Each	621
			(Rs	: Sixty Nine	Rupees O	nly)
8	P/F Circuit breaker 15, 20, 30, 40, 50, 60, 75 & 100amp TP	13	Nos	2,456.00	Each	31,928
	(XS-100NS) on a prepared board as required. (Si-204, P-31)	(Rs:	Twent	y Four Hund Onl	57.0	Six Rupees
9	Providing & Fixing 6,10,15,20,30,40,50 & 63 amp SP(TB-	4	Nos	916.00	Each	3,664
	5S) on prepared board as required.(S.I.No.204 P-31)	(R	s: Nine	Hundred Si	xteen Ruj	ees Only)
0	Providing & fixing circuit breaker 15,20,30,40,50,60,75 &	1	Nos	9,261.00	Each	9,261
	100amp TP (XS-100NS) on prepared board as required.(S.I.No.207 P-31).	(Rs:	Nine T	housand Tw Rupees		d Sixty One
1	P/F Bakelite ceiling rose with two terminals (S.I.No. 228 P-	10	Nos	72.00	Each	720
	33)		(Rs:	Seventy Two	Rupees	Only)
	At Nav			Total Amo	- CONTRACTOR - CON	355,92

Sr.	Name of Item.	Quan	ntity	Rate	Unit	Amount.
	PART - B NON - SCHEDULE ITEMS	- 11				
1	P/F A.C or D.C electric bell 200/250 volts 70mm (2.3/4") imported	3	Nos	740	Each	2,220.
2	P/F 10amp[Polycarbonate flame retardant bell push with fancy base plate fixed in dia fabricated power coated metal board recessed in wall or column i/c					
	connection.	3	Nos.	510	Each	1,530
3	P/F Mild steel bar fan clamp $15.8 \mathrm{mm}$ (5/8") dia suitable for RCC roof	6	Nos.	312	Each	1,890.
4	S/F Distribution panel board of 3/8" thick sheeting double shutter to accommodate circuit breaker i/c painting with enameled paint	7	Sft	2460	P.Sft	16,800.
5	P/F 1-40 watt tube light complete with 40 watt 4'-0 long rod, choke, starter and pase putty with Philips components i/c necessary electric connection and					
	fixing on wall or celling etc. complete (Philips)	4	Sft	1,300	P.Sft	$S, \lambda \infty$.
6	P/F Energy saver (18 to 24 watts) superior quality i/c fixing on existing holder etc conplete.	10	Nos	400	Each	ዓ, መን [.]
7	P/F Hard drawn bare copper wire No.16 SWG as earth continuity conductor with any given mains or sub main in all system of wiring i/c metallic electrical accessories (1st class quality)	150	Rft	20	P.Rft	3,900.
8	P/installing 140 CM (56") sweep ceiling fan with blade canopy standard length of down rod i/c connection with 14.0076" flexible wire complete as					
	required with dimmer (millat,pak,asia, youns, climax, royal)	6	Nos.	600	Each	36,000
9	P/F 10amp polycarbonate flame retardant one way switch with fancy base plate fixed on die fabricated powder coated metallic board recessed in wall or column i/c connection as required (#31/2/3A Clipsal	4	Nos.	2010	Each	&, <i>1</i> 10.
	(i) One Switch plate	4	Nos	410	Each	1,640.
	(ii) Five switch plate	2	Nos	1350	Each	2,760.
	(iii) Six switch plate	7	Nos	1600.	Each	11,200.
10	P/F LED light 18/20 watt complete i/c cutting in false ceiling fixing of light with necessary connection i/c testing as philips / orient etc as required.	40	Nos	4200	Each	168000
11	P/F 10 amps polycarbonate flame retardant 2-pin switch socket unit (universal) with fancy base plate fixed on die fabricated powder coated metallic board					
	recessed in wall or column i/c connection as required (E-14U Clipsal make)	4	Nos	740.	Each	2966

No.	Name of Item.	Qua	ntity	Rate	Unit	Amount.
12	P/F Earth Set With 2'x2' 1/4" copper plate buried in the ground at a depth of 10 feet or les (with slat and charcoal or earth chemical power) etc. making the pit 10 feet deep by excavation off all type of soil i/c fixing of 8-SWG copper wire in 3/4" G.I conduit complete in all respect as required.	1	Nos	12,00.	Each	12,00.
13	P/F Exhaust fan 280mm (12") Sweep butterfly shutter for exhaust fan complete as required this rte also i/c in cutting of wall & beam upto required site fixing exhaust fan with connection & finishing the hole with cement etc complete in all respects (is class quality)	,	Nos	3,00	Each	9,00
14	P/F fancy capsule light complete with metallic body, glass shade, holder etc complete.	4	Nos	3,340.	Each	(3, 200.
				Total Part	"B"	300,240

1

Sr. No.		Name of Item.	Quant	ity	Rate	Unit	Amount.
	[G	ENERAL-ABSTRACT)					12.1
1	PART "A" C	IVIL WORK.	Rs:		5,189,489	5967	912
2	NON-SCHEI	DULE ITEM.	Rs:		215319	5	
3	PART "B" W	/S & S/F.	Rs:		305,589		
4	PART "C" E	I WORK.	Rs:		355,921		
5	PART "C" E	I WORK. (NON-SCHEDULE ITEM).	Rs:	3	60,240		
			Total Rs.	9,0	82,85	7	
			Says Rs.	9,0	0 83,00	0	

TERMS & CONDITIONS

- * Non premium shall be allowed on item based on Market rates sanction by competent authority outside the schedule of rates enforced.
- * Nothing shall be paid for cartage of any material what so ever brought at the sight of work including the material cartage from Govt: store.
- * The material was use in the name of work of the finish redact can be got tasted from any approved Laboratory as per directed by the Executive Engineer, In charge or his representative all expenses in condition with such testing shall be born by the contractor exclusively without any re-embossment or claim against the Govt: on this account.

CONTRA

Senior Superintedent of Police

Tando Allahyar / Member

Executive Engineer
Provingial Building Hyd/Member

Senior Superintendent of Police

Matiari/Member

Assistant Engineer

Provincial Buildings (EL) Hyd/Member

Senior Superintendent of Police

Jamshoro & Chairman Procurement Committee



SENIOR SUPERINTENDENT OF POLICE JAMSHORO & CHAIRMAN

Procurement Committee
DIGP CAMP OFFICE HYDERABAD

(a)

DIGP OFFICE HYDERABAD RANGE

1st Floor Shahbaz Building Hyderabad, Tel No. 022-9200093

BIDDING DOCUMENT

REPAIR/RENOVATION WORK OF DIGP CAMP OFFICE HYDERABAD RANGE (F.Y 2017-2018)

issued to

M/s Malara Enterprizes Hyd

.... OF DIG HOUSE HIDERABAD.

Schedule-B

	Schedule-	В			
Sr. No.	Name of Item.	Quantity	Rate	Unit	Amount.
1	PART "A" CIVIL WORK.				
1	Reinforced Cement Concrete Work including All Labour & Material Except the Cost of Steel Reinforcement & its Labour for Bending & Binding which will be paid Separately. This Rate also includes All Kinds of Forms Moulds: Lifting Shuttering, Curing, Rendering & Finishing the Exposed Surface (Including Screening & Washing of Shingle) (a) R.C Work in Roof, Slab, Beams, Columns, Rafts, Lintels &	Rs. Three	337.00 Hundred Thirty	Cft. Seven.	858,339
	Other Structural Members Laid in Situ or Precast Laid in Position Complete in All Respects (I) Ratio (1:2:4) 90 Lbs; Cement 2 Cft, Sand 4 Cft, Shingle 1/8" to 1/4" Gauge (S.I. No:-6 (a) (I) / P-17).				* 1
2	Fabrication of Tor Bar Steel Reinforcement for Cement Concrete including Cutting, Bending, Laying in Position, Making Joints & Fastenings including Cost of Binding Wire (Also includes Removeal of Rust from Bars) (S.I. No:- 8 (b)	Rs. Five Thousa	5001.70 and One Point Se	P. Cwt. eventy Paisa.	1,152,292
	/ P-17).				
3	Scraping (b) Ordinary Distemper, Oil Bound Distemper or Paint on Walls (S.I. No:- 54 (b) / P-13).	4811 Sft. Rs. Two Hundred	226.88 Twenty Six Poin Paisa.	% Sft. nt Eighty Eight	10,915
4	Removing Cement or Lime Plaster (S.I. No:- 53 / P-13).	4811 Sft. Rs. One	121.00 Hundred Twenty	% Sft. One.	5,821
5	Cement Plaster 1:6 Upto 20' Feet Height (a) 1/2" Thick (S.I. No:- 13 (b) / P-52).	11530 Sft. 2206.60 Rs. Two Thousand Two Hundred Paisa.		% Sft. Six Point Sixty	254,421
6	Cement Plaster 1:4 Upto 20' Feet Height (a) 3/8" Thick (S.I. No:- 11 (a) / P-52).	11530 Sft. 2197.52 % S Rs. Two Thousand One Hundred Ninety S Point Fifty Two Palsa.			253,374
7	Preparing the Surface & Painting with Matt Finish including Rubbing the Surface with Bathy (Silicon Carbide Rubbing Brick) Filling the Voids with Zink / Chalk / Plaster of Paris Mixture, Applying First Coat Premix, Making the Surface Smooth & then Painting 3 Coats with Matt Finish of Approved Make etc Complete (New Surface) (b) 2nd & Subsequent Coats (a + b) (Three Coats) (S.I. No:- 36 (b) / P-55).	Rs. Three Thous	3444.38 sand Four Hundr Thirty Eight Pale		397,137
8	Preparing the Surface & Painting with Weather Coat including Rubbing the Surface with Rubbing Brick / Sand Paper, Filling the Voids with Chalk / Plaster of Paris & then Painting with Weather Coat of Approved Makee (b) 2nd & Subsequent Coat (Three Coats) (a + b) (S.I. No:- 38 (a + b) / P-56).	Rs. Two Thousa	2567.95 and Five Hundre t Ninety Five Pair		95,836
9	Supplying & Fixing in Position Aluminium Channels Framing for Hinged Doors or Alcop Made with 5 MM Thick Tinted Glass Glazing (Belgium) & Alpha (Japan) Locks including Handles, Stoppers etc (b) Deluxe Model (Bronze) (S.I. No:- 83 (b) / P-108).	Rs. One Thousa	1507.66 and Five Hundre Sixty Six Paisa.	P. Sft. d Seven Point	556,327
10	Fist Class Deodar Wood Wrought Joinery in Doors & Windows etc Fixed in Position including Chowkats Hold Fasts Hinges, Iron Tower Bolts, Chocks Cleats, Handles & Cords with Hooks, etc Deodar Panelled or Panelled & Glazed or Fully Glazed (b) 1-3/4" Thick (Only Shutter) (S.I. No:- 7 (b) / P-58).	Rs. Nine Hun	902.93 dred Two Point N Paisa.	P. Sft.	317,831

No.	Name of Item.	Quantit	y	Rate	Unit	Amount.
	Providing & Fixing G.I. Frames / Chokhats of Size 7" x 2"	201 Rf	t.	228.90	P. Rft.	46,009
	or 4-1/2" x 3" for Windows Using 20 Gauge G.I. Sheet including Welded Hinges & Fixing @ Site with Necessary Hold Fasts, Filling with Cement Sand Slurry of Ratio 1:6 &	Rs. Two H	undre	d Twenty Eight F Paisa.	Point Ninety	
	Repairing the Jambs. The Cost also iincludes All Carriage, Tools & Plants Used in Making & Fixing (S.I. No:- 29 / P-93).					
12	Pacca Brick Work other than Building including Striking of Joints Upto 20' Feet Height in (I) (e) Cement Sand Mortar 1:6 (S.I. No:- 7 (I) (e) / P-22).		Thous	12346.65 sand Three Hund Sixty Five Paisa		210,263
13	Cement Concrete Brick or Stone Ballast 1 1/2" to 2" Gauge (b) Ratio 1:4:8 (S.I. No:- 4 (b) / P-15).	1062 Cf Rs. Nine Tho	ousan	9416.28 of Four Hundred	% Cft. Sixteen Point	100,001
14	Providing & Fixing Cement Paving Blocks Flooring having Size of 197 x 97 x 60 (MM) of City / Quddra / Cobble Shape with Natural Colours, having Strength between 5000 PSI to 8500 PSI including Filling the Joints with Hill Sand & Laying in Specified Manner / Pattern & Design etc, Complete (S.I. No:- 71 / P-49).	800 Sft. Rs. One Hundred N		199.77	P. Sft. oint Seventy	159,816
15	Dismantling Cement Concrete Reinforced Separating Reinfor Cement from Concrete Cleaning & Straightening the Same (S.I. No:- 20 / P-10).			5445.00 and Four Hundre	% Cft. d Forty Five.	48,678
16	(a) Removing door with chowket. (S.I. No:- 33-a / P-13).	Rs. One Hundred F		142.18 red Forty Two R ighteen Paisa.	P.Nos upees and	853
17	(b) Removing Window and sky light with chowkets (S.I.	2 N		102.85	P.Nos	206
	No:- 33-b / P-13).	ATT 1575		Two Rupees ar Paisa.	40 PASTATA	
17	C.C.plain I/c placing compacting finishing & curring complete (I/c screening washing of stone aggregate without shuttering ratio 1:2:4 (SINO.5(c)P-15).	Rs. Fourtee	n The	14429.25 ousand Four Hui s and Twenty Fix		153,239
19	P/L 2" thick topping c.c. 1:2:4 including surface finishing	3720	Sft	3275.50	% Sft	121,849
	and dividing into panels.(SINO.16(c) P-47)	Rs. Thirty T		undred Seventy nd Fifty Paisa.	Five Rupees	
20	Khapriel of cement concrete 12" x 8" x 1" of approved design/shape laid flat in 1:2 grey cement mortar over a bed of 3/4" thick grey cement mortar 1:2. (S.I. No:- 39 P-38).		Thou	8977.90 sand Nine Hund pees and Ninety		20,649
21	Providing and fixing deodar wooden wardrobe including boxing with back shelves, shutters drawers and brass fittings such as handles locking arranjgement, hanger rod shoe rod and mirror measuring 2' x 1' Complete as per approved design. (S.I. No:- 24 P-61).	Rug	nousa	2364.63 and Three Hundra and Sixty Three I		425,633

195889
Addity, on dim No-2

Addity, on dim No-2

Addity, above Ecept the 2011/19

ST82540/3971629

Aby he are

Above and

Above an

No.	Name of Item.	Quantity	Rate	Unit	Amount.
2	NON-SCHEDULE ITEM. Providing and Fixing Ceramix Hard Floor tiles with wood texture over wall facing or floor (Size 6" x 24" x 1/2" ir above) jointed in white cement and laid over bed of 3/4" thick grey cement sand motar 1:3 washing / filling of joints	2665 Sft	374	P.Sft	996710
2	with white cement etc complete in all respect. Providing and Fixing of Granite Marble 3/4" thick size (12"x48") redish / blackish over a bed of 3/4" cement mortor ratio 1:3 i/c rubbing and polishing of the joints etc complete in all respect also i/c chemical polish.	36 Sft	1855	P.Sft	66780
3	Supplying & Fixing Imported Wall Paper Fixed with adhesive solution over base of matt finish putti etc complete in all respects (First Quality)	830 Sft	325	P.Sft	269750
4	Supplying & Fixing of Decorative False Ceiling made of imported Gypsum Sheet 12mm Thick Fixed with M.S Suspension & Decorative Glass. (First Glass).	1089 Sft	400	P.Sft	435600
5	Providing & Fixing English Commode Seat i/c Glazed Flushing Cistern, Nyloon Tube etc Complete. (Porta Royal Classic Model 1st Quality or Equavalent).	5 Nos	29865	Each	1.1
6	Providing and Fixing Wash Basin 24"x18" i/c Padestal, C.P Waste, Syphon System, P.V.C, Waste Pipe, Bolt Kit, Nyloon Connection etc Complete	5 Nos	26375	Each	131875
7	(Porta Royal Classic Model 1st Quality or Equavalent). P/F Indian W.C. (Porta).	5 Nos	8866	Each	44330
8	Providing & Fixing Bath Shower Set (Wall Mounted) i/c Telephonic Shower C.P Rods etc completed.(MASTER / SONEX OR EQUAVALENT).	5 Nos	26162	Each	130816

Total Rs. 2225180

No.	Name of Item.	Quantity	Rate	Unit	Amount.
3>	PART "B" W/S & S/F.				
1	P/F 6"x2" or 6"x3" C.I floor trap of the approved self cleaning design with a C.I screwed down gritting with or without a vent arm complete with and i/c making req: No; of holes in walls plinth & floor for pipe connection and making	12 Nos: (Rs: Two Thou	2042.43 ad: Fourty Two & Three) Only	Each & Ps: Fourty	24509
	good in C.C 1:2:4. (SI No:20 P-6)		1		
2	P/F in position nyloon connections complete with 1/2" dia brass stop cock with pair of brass nuts and lining joints to nyloon connection. (SI No:23 P-6)		447.15 or Hund: Fourty : Ps: Fifteen) Only		15650
3	P/F 4" dia C.I soil & vent pipe i/c cutting & fitting & extra painting to match the colour of the building. (SI No:1 P-9)	(Rs: Thr	333.29 ee Hund: Thirty Twenty Nine) O		11665
4	P/F M.S clamps of the approved design to 4" dia C.I pipe sockets i/c the cost of cutting & making good to wall or M.S bolts & nuts, 4" into wall i/c pipe distance pieces extra painting to match the colour of the building. (SI No:2 P-9)	30 Nos: (Rs: Sevent)	72.16 y Two & Ps: Sixt	Each seen) Only	2165
5	P/F 4"x4" dia C.I branch of the required degree with access doors, rubber washer 3/8" thick & bolts & nuts & extra spinition to match the solour of the building	15 Nos: (Rs: 5	702.00 Seventy Two) O	Each	10530
	painting to match the colour of the building. (SI No:4 P-9)				
6	P/F 24"x18" lav: basin in white glazed earthen ware complete with & including the cost of W.I. Or C.I. Contilever brackets 6 inches built into walls painted white in two coats after a primary coat of red lead paint a pair of 1/2" dia chrome plated pillar taps, 1-1/2" dia rubber plug and	5 Nos. (Rs: Six Thousa	6237.00 and two Hundred Paisa) Only	Each d Thirty Seven	31,185
	chrome plated brass chain 1-1/4" dia malleable iron or c.p.brass traps malleable iron or brass union and making requisite No. of holes in walls, plinth and floor for pipe connection and making good in c.c. 1:2:4 (foreign or				
7	Add extra labour for providing and fixing of earthen ware padestal white or coloured glazed (Standard Pattern) (S.I.No. 11 P-3)		2533.47 Five Hundred T Fourty Seven P		12,667
8	P/F steel sink stainless local make complete with cast iron	2 Each	5162.30	Each	10,325
,	or wrough iron bracksts 6" built in wall 1-1/2" rubber plug chorme brass chain 1-1/2" C.P brass waste with 1-1/2" plate PVC waste pipe and making requisite nof holes in	Rupees	sand One Hund and Thirty Pais	red Sixty Two a) Only	
	walls and plinth floor for pipe connection and making good in c.c 1:2:4 (b) steel sink stainless sized 36"x18" local making (Standard pattern) S.I.No.19-b P-5				
9	Providing & fixing chrome plated brass towel rail complete with brackets fixing on wooden cleats with 1" long c.p brass screws.(a) 3/4" dia round or square (Standard Pattern)(II)		1082.95 sand Eighty Two y Five Paisa) O		5415
10	Providing & fixing 15" x 12" bavelled edge mirror of belgium glass complete with 1/8" thick hard board and c.p screws fixed to wooden pleat.(a) Standard Pattern.(S.I.No.4 P-7)		1161.60 dred Sixty One xty Palsa) Only	Each Rupees and	5808
11	S/Fixing concealed stop cock of superior quality with Crystal head 1/2" dia (SINO.14(b) P-15)	15 Each (Rs: Eight Hund Fourt	889.46 Ired Eighty Nine by Six Paisa) On	Each Rupees and	13,342
12	(a) S/Fixing long bib- cock of superir quality with c.p head 1/2" dia. (SINO.13 P-19)	15 Each (Rs: Elven Hund	1109.46	Each	16,642

No.	name of item.	Quantity	Rate	Unit	Amount.
	Supplying & Fixing jet shower with rod of superior quality single c.p head 1/2" dia (S.I.No.15 P-19)	10 Each (Rs: Elven Hund Twent	1142.24 dred Forty Two y Four Paisa)		11,422
14	Providing F.C. pressure pipe with collar (Dedex or equivalent) I/c digging the trenche to required deoth and fixing in position and jointing with rubber rings including testing to water pressure head of 200 feet.(b) 4" dia F.C. pressure pipe. (S.I.No.3 P-25)	320 Rft (Rs: One Hundr Forty	188.44 ed Eighty Eigh Four Palsa) O		60301
15	Constructing manhole for the required dia of circular sewer and 7'-9" depth with walls of B.B in cement mortor 1:3 cement plastered 1:3, 1/2" thick, inside of walls and 1" (25 mm) thick over benching and channel i/c fixing C.I manhole cover with frame of clear opening 2' x 2' (610x610 mm)	(Rs: Twenty F Rupees and	2524.25 Five Hundred T Twenty Five P		25243
16	Providing, Laying uPVC Pressure Pipes of Class 'C' (equivalent make) fixing in trench i/c cutting, fitting and jointing with 'Z' joint with one rubber ring i/c testing with water to a head 91.5meter or 300 ft. 100 mm (4" dia)(S.I.No.1 P-22)	(Rs: One Hund	174.00 lred Seventy Fo	P.Rft our Rupees)	48720
				Total Rs.	305,589

NO.		Quan	ntity	Rate	Unit	Amount.		
	C Schedule Item (E.I Work)							
1	Wiring for light or fan point with 3/.029 PVC insulated wire	60	Nos	1,130.00	Each	67,800		
	in 20mm (3/4") PVC conduit recessed in the wall or column as required.(S.I.No.1234 P-15)	column (Rs: Eleven			Hundred Thirty Rupees Only)			
2	Wiring for pug point with 3/.029 PVC insulated wire in 20mm (3/4") channel patti on surface as required (S.I. No. 126/P-15)	21	Nos	985.00	Each	20,685		
		(Rs: Nine Hundred Eighty Five Rupees Only						
3	Wiring for Call bell point with 3/.029 PVC insulated wire in	3	Nos		Each	5,292		
	20mm (3/4") PVC conduit recessed in the wall or column as required (S.I. No. 128/P-15)	(Rs: Seventeen Hundred Sixty Four Rupees Only)						
4	P/L (Main or Sub Main) PVC insulated with size 2-7/.029 copper conductor in (3/4") dia PVC conduit recessed in the wall or column as required(SI No.10 P-2).	300	MTR	222.00	P.MTR	66,600		
		(Rs:	Two H	undred Twe	nty Two R	upees Only)		
5	P/L (Main or Sub Main) PVC insulated with size 2-7/.044	250	MTR	341.00	P.MTR	85,250		
	copper conductor in (3/4") dia PVC conduit recessed in the wall or column as required (SI No. 12 P-2).	(Rs: Three Hundred Forty One Rupees On						
6	P/L (Main or Sub Main) PVC insulated with size 2-7/.064	100	MTR	641.00	P.MTR	64,100		
	copper conductor in (3/4") dia PVC conduit recessed in the wall or column as required (SI No. 14 P-2).	the (Rs: Six Hundred Forty			y One Ru	pees Only)		
7	P/F B.C Bakelite angular type bittern holder (S.I.No.1 P-14)	9	Nos	69.00	Each	621		
			(Rs	: Sixty Nine	Rupees O	nly)		
8	P/F Circuit breaker 15, 20, 30, 40, 50, 60, 75 & 100amp TP (XS-100NS) on a prepared board as required. (Si-204, P-	13 (Rs:	Nos Twent	2,456.00 y Four Hune		31,928 Six Rupees		
	31)			Onl	y)			
9	Providing & Fixing 6,10,15,20,30,40,50 & 63 amp SP(TB-	4	Nos		Each	3,66		
	5S) on prepared board as required.(S.I.No.204 P-31)	(R	s: Nine	Hundred Si	xteen Rup	ees Only)		
10	Providing & fixing circuit breaker 15,20,30,40,50,60,75 & 100amp TP (XS-100NS) on prepared board as required.(S.I.No.207 P-31).	(Rs:	Nos Nine 1	9,261.00 Thousand Tw Rupees		9,26 d Sixty One		
11	P/F Bakelite ceiling rose with two terminals (S.I.No. 228 P-	10	Nos	72.00	Each	72		
	33)		(Rs:	Seventy Two	Rupees	Only)		
				Total Amo	unt Part-C	355,92		

No.		Yuu	uuty	Kate	unit	Amount.
	₽ ART - B NON - SCHEDULE ITEMS					
1	P/F A.C or D.C electric bell 200/250 volts 70mm (2.3/4") imported	3	Nos	295	Each	885
2	P/F 10amp[Polycarbonate flame retardant bell push with fancy base plate fixed in dia fabricated power coated metal board recessed in wall or column i/c connection.	3	Nos.	625	Each	1875
3	P/F Mild steel bar fan clamp 15.8mm (5/8") dia suitable for RCC roof	6	Nos.	0	Each	2028
4	S/F Distribution panel board of 3/8" thick sheeting double shutter to accommodate circuit breaker i/c painting with enameled paint	7	Sft	2540	P.Sft	17780
5	P/F 1-40 watt tube light complete with 40 watt 4'-0 long rod, choke, starter and pase putty with Philips components i/c necessary electric connection and	i.				Comp. I
	fixing on wall or celling etc. complete (Philips)	4	Sft	1303	P.Sft	SIZ'
6	P/F Energy saver (18 to 24 watts) superior quality i/c fixing on existing holder etc conplete.	10	Nos	469	Each	4690
7	P/F Hard drawn bare copper wire No.16 SWG as earth continuity conductor with any given mains or sub main in all system of wiring i/c metallic electrical accessories (1st class quality)	150	Rft	24.26	P.Rft	3639
8	P/installing 140 CM (56") sweep ceiling fan with blade canopy standard length of down rod i/c connection with 14.0076" flexible wire complete as required with dimmer (millat,pak,asia, youns, climax, royal)	6	Nos.	6224	Each	37344
9	P/F 10amp polycarbonate flame retardant one way switch with fancy base plate fixed on die fabricated powder coated metallic board recessed in wall or column i/c connection as required (#31/2/3A Clipsal	4	Nos.	1867	Each	7468
	(i) One Switch plate		Nes	432	Each	1728
	1200 (Control of Control of Contr	4		•		
	(ii) Five switch plate	2		1350	Each	2700
	(iii) Six switch plate	7	Nos	1616	Each	11312
10	P/F LED light 18/20 watt complete i/c cutting in false ceiling fixing of light with necessary connection i/c testing as philips / orient etc as required.	40	Nos	4380	Each	175200
11	P/F 10 amps polycarbonate flame retardant 2-pin switch socket unit (universal) with fancy base plate fixed on die fabricated powder coated metallic board recessed in wall or column i/c connection as required (E-14U Clipsal make)		No	1902	Each	7608

No.	Name of Item.	Quant	ity	Rate	Unit	Amount.
12	P/F Earth Set With 2'x2" 1/4" copper plate buried in the ground at a depth of 10 feet or les (with slat and charcoal or earth chemical power) etc. making the pit 10 feet deep by excavation off all type of soil i/c fixing of 8-SWG copper wire in 3/4" G.I conduit complete in all respect as required.	1	Nos	13039	Each	13039
13	P/F Exhaust fan 280mm (12") Sweep butterfly shutter for exhaust fan complete as required this rte also i/c in cutting of wall & beam upto required site fixing exhaust fan with connection & finishing the hole with					
	cement etc complete in all respects (is class quality)	3	Nos	3Z85	Each	9855
14	P/F fancy capsule light complete with metallic body, glass shade, holder etc complete.	4	Nos	3545	Each	14180
		[Total Part "I	3"	+316543

Sr. Name of Item. Quantity Unit Rate Amount. Nos (GENERAL-ABSTRACT) 5,189,489 add 17/ Alove 9754165 1 PART "A" CIVIL WORK. Rs: 2225180 NON-SCHEDULE ITEM. Rs: PART "B" W/S & S/F. Rs: 305,589 PART "C" E.I WORK. 355,921 Rs: 5 PART "C" E.I WORK. (NON-SCHEDULE ITEM). Rs:

otal Rs. 129 57398

Says Rs. 8985 773

TERMS & CONDITIONS

- * Non premium shall be allowed on item based on Market rates sanction by competent authority outside the schedule of rates enforced.
- * Nothing shall be paid for cartage of any material what so ever brought at the sight of work including the material cartage from Govt: store.
- * The material was use in the name of work of the finish redact can be got tasted from any approved Laboratory as per directed by the Executive Engineer, In charge or his representative all expenses in condition with such testing shall be born by the contractor exclusively without any re-embossment or claim against the Govt: on this account.

CONTRACTOR

Senior Superintedent of Police

Tando Allahyar / Member

Executive Engineer

Provincial Building Hyd/Member

Senior Superintendent of Police

Matiari/Member

Assistant Engineer

Provincial Buildings (EL) Hyd/Member

Senior Superintendent of Police

Jamshoro & Chairman Procurement Committee



SENIOR SUPERINTENDENT OF POLICE JAMSHORO & CHAIRMAN

Procurement Committee
DIGP CAMP OFFICE HYDERABAD

(a)

DIGP OFFICE HYDERABAD RANGE

1st Floor Shahbaz Building Hyderabad, Tel No. 022-9200093

BIDDING DOCUMENT

REPAIR/RENOVATION WORK OF DIGP CAMP OFFICE HYDERABAD RANGE (F.Y 2017-2018)

issued to

M/s VERIZONE ENTERPRISE.

	ed		

Sr. No.	Name of Item.	Quantity	Rate	Unit	Amount.
	PART "A" CIVIL WORK.		Comb.		
1	Reinforced Cement Concrete Work including All Labour & Material Except the Cost of Steel Reinforcement & its Labour for Bending & Binding which will be paid Separately. This Rate also includes All Kinds of Forms Moulds: Lifting Shuttering, Curing, Rendering & Finishing the Exposed Surface (Including Screening & Washing of Shingle) (a) R.C Work in Roof, Slab, Beams, Columns, Rafts, Lintels & Other Structural Members Laid in Situ or Precast Laid in Position Complete in All Respects (I) Ratio (1:2:4) 90 Lbs, Cement 2 Cft, Sand 4 Cft, Shingle 1/8" to 1/4" Gauge (S.I. No:- 6 (a) (I) / P-17).	2547 Cft. Rs. Three	337.00 e Hundred Thirty !	Cft. Seven.	858,339
2	Fabrication of Tor Bar Steel Reinforcement for Cement Concrete including Cutting, Bending, Laying in Position, Making Joints & Fastenings including Cost of Binding Wire (Also includes Removeal of Rust from Bars) (S.I. No:- 8 (b) / P-17).	Rs. Five Thous	5001.70 and One Point Se	P. Cwt.	1,152,292
3	Scraping (b) Ordinary Distemper, Oil Bound Distemper or Paint on Walls (S.I. No:- 54 (b) / P-13).		226.88 d Twenty Six Poir Paisa.	% Sft. nt Eighty Eight	10,915
4	Removing Cement or Lime Plaster (S.I. No:- 53 / P-13).	4811 Sft. Rs. One	121.00 Hundred Twenty	% Sft.	5,821
5	Cement Plaster 1:6 Upto 20' Feet Height (a) 1/2" Thick (S.I. No:- 13 (b) / P-52).		2206.60 and Two Hundred Paisa.	% Sft. Six Point Sixty	254,421
6	Cement Plaster 1:4 Upto 20' Feet Height (a) 3/8" Thick (S.I. No:- 11 (a) / P-52).	Rs. Two Thouse	2197.52 and One Hundred int Fifty Two Paiss		253,374
7	Preparing the Surface & Painting with Matt Finish including Rubbing the Surface with Bathy (Silicon Carbide Rubbing Brick) Filling the Voids with Zink / Chalk / Plaster of Paris Mixture, Applying First Coat Premix, Making the Surface Smooth & then Painting 3 Coats with Matt Finish of Approved Make etc Complete (New Surface) (b) 2nd & Subsequent Coats (a + b) (Three Coats) (S.I. No:- 36 (b) / P-55).	Rs. Three Thou Poin	3444.38 isand Four Hundr it Thirty Eight Pais		397,137
8	Preparing the Surface & Painting with Weather Coat including Rubbing the Surface with Rubbing Brick / Sand Paper, Filling the Voids with Chalk / Plaster of Paris & then Painting with Weather Coat of Approved Makee (b) 2nd & Subsequent Coat (Three Coats) (a + b) (S.I. No:- 38 (a + b) / P-56).	Rs. Two Thous Poir	2567.95 and Five Hundre at Ninety Five Pair		95,836
•9	Supplying & Fixing in Position Aluminium Channels Framing for Hinged Doors or Alcop Made with 5 MM Thick Tinted Glass Glazing (Belgium) & Alpha (Japan) Locks including Handles, Stoppers etc (b) Deluxe Model (Bronze) (S.I. No:- 83 (b) / P-108).	Rs. One Thous	1507.66 and Five Hundred Sixty Six Paisa.	P. Sft. d Seven Point	556,327
10	Fist Class Deodar Wood Wrought Joinery in Doors & Windows etc Fixed in Position including Chowkats Hold Fasts Hinges, Iron Tower Bolts, Chocks Cleats, Handles & Cords with Hooks, etc Deodar Panelled or Panelled & Glazed or Fully Glazed (b) 1-3/4" Thick (Only Shutter) (S.I. No:- 7 (b) / P-58).	Rs. Nine Hur	902.93 adred Two Point N Paisa.	P. Sft. linety Three	317,831

					. II
	Providing & Fixing G.I. Frames / Chokhats or Size /" x 2" or 4-1/2" x 3" for Windows Using 20 Gauge G.I. Sheet including Welded Hinges & Fixing @ Site with Necessary Hold Fasts, Filling with Cement Sand Slurry of Ratio 1:6 & Repairing the Jambs. The Cost also iincludes All Carriage, Tools & Plants Used in Making & Fixing (S.I. No:- 29 / P-93).	ZU1 KTT. Rs. Two Hundr	∠∠o.⊎u red Twenty Eight Paisa.	P. KIL. Point Ninety	40,000
12	Pacca Brick Work other than Building including Striking of Joints Upto 20' Feet Height in (I) (e) Cement Sand Mortar 1:6 (S.I. No:- 7 (I) (e) / P-22).		12346.65 usand Three Hund nt Sixty Five Paisa		210,263
13	Cement Concrete Brick or Stone Ballast 1 1/2" to 2" Gauge (b) Ratio 1:4:8 (S.I. No:- 4 (b) / P-15).		9416.28 and Four Hundred	% Cft. Sixteen Point	100,001
14	Providing & Fixing Cement Paving Blocks Flooring having Size of 197 x 97 x 60 (MM) of City / Quddra / Cobble Shape with Natural Colours, having Strength between 5000 PSI to 8500 PSI including Filling the Joints with Hill Sand & Laying in Specified Manner / Pattern & Design etc, Complete (S.I. No:- 71 / P-49).	800 Sft.	199.77 red Ninety Nine Po Seven Paisa.	P. Sft. oint Seventy	159,816
15	Dismantling Cement Concrete Reinforced Separating Reinfor Cement from Concrete Cleaning & Straightening the Same (S.I. No:- 20 / P-10).	894 Cft. Rs. Five Thous	5445.00 sand Four Hundre	% Cft. d Forty Five.	48,678
16	(a) Removing door with chowket. (S.I. No:- 33-a / P-13).		142.18 dred Forty Two R Eighteen Paisa.	P.Nos upees and	853
17	(b) Removing Window and sky light with chowkets (S.I. No:- 33-b / P-13).	2 Nos	102.85 ed Two Rupees a	P.Nos nd Eighty Five	206
17	C.C.plain I/c placing compacting finishing & curring complete (I/c screening washing of stone aggregate without shuttering ratio 1:2:4 (SINO.5(c)P-15).	Rs. Fourteen Ti	Paisa. 14429.25 housand Four Hu es and Twenty Fi		153,239
19	P/L 2" thick topping c.c. 1:2:4 including surface finishing and dividing into panels.(SINO.16(c) P-47)	Rs. Thirty Two I	3275.50 Hundred Seventy and Fifty Paisa.	% Sft Five Rupees	121,849
20	Khapriel of cement concrete 12" x 8" x 1" of approved design/shape laid flat in 1:2 grey cement mortar over a bed of 3/4" thick grey cement mortar 1:2. (S.I. No:- 39 P-38).	Rs. Eight Tho	8977.90 usand Nine Hund upees and Ninety		20,649
21	Providing and fixing deodar wooden wardrobe including boxing with back shelves, shutters drawers and brass fittings such as handles locking arranjgement, hanger rod shoe rod and mirror measuring 2' x 1' Complete as per approved design. (S.I. No:- 24 P-61).	Rs. Two Thous Rupees	2364.63 sand Three Hunds and Sixty Three		425,633
				Total Rs:	5,189,489
		18%	ABOVE	+	934 168
			Total	6,1	23,597

No.	name or item.	Quantity	Kate	Unit	Amount.
1	NON-SCHEDULE ITEM. Providing and Fixing Ceramix Hard Floor tiles with wood texture over wall facing or floor (Size 6" x 24" x 1/2" ir above) jointed in white cement and laid over bed of 3/4" thick grey cement sand motar 1:3 washing / filling of joints	2665 Sft	400.	P.Sft	1066000
2	with white cement etc complete in all respect. Providing and Fixing of Granite Marble 3/4" thick size (12"x48") redish / blackish over a bed of 3/4" cement mortor ratio 1:3 i/c rubbing and polishing of the joints etc complete in all respect also i/c chemical polish.	36 Sft	1800.	P.Sft	64800.
3	Supplying & Fixing Imported Wall Paper Fixed with adhesive solution over base of matt finish putti etc complete in all respects (First Quality)	830 Sft	300	P.Sft	249,000
4	Supplying & Fixing of Decorative False Ceiling made of imported Gypsum Sheet 12mm Thick Fixed with M.S Suspension & Decorative Glass. (First Glass).	1089 Sft	460	P.Sft	
5	Providing & Fixing English Commode Seat i/c Glazed Flushing Cistern, Nyloon Tube etc Complete. (Porta Royal Classic Model 1st Quality or Equavalent).	5 Nos	98260		142560.
6	Providing and Fixing Wash Basin 24"x18" i/c Padestal, C.P Waste, Syphon System, P.V.C, Waste Pipe, Bolt Kit, Nyloon Connection etc Complete	5 Nos	37000	Each	165060.
7	(Porta Royal Classic Model 1st Quality or Equavalent). P/F Indian W.C. (Porta).	5 Nos	6200	Each	41660.
8			24800		41660. 124060.
				Total R	22878

Br.	Name of Item.	Quantity Rate vant	
3	PART "B" W/S & S/F.		
1	P/F 6"x2" or 6"x3" C.I floor trap of the approved self cleaning design with a C.I screwed down gritting with or without a vent arm complete with and i/c making req: No; of holes in walls plinth & floor for pipe connection and making good in C.C 1:2:4. (SI No:20 P-6)	12 Nos: 2042.43 Each (Rs: Two Thoud: Fourty Two & Ps: Fourty Three) Only	24509
2	P/F in position nyloon connections complete with 1/2" dia brass stop cock with pair of brass nuts and lining joints to nyloon connection. (SI No:23 P-6)	35 Nos: 447.15 Each (Rs: Four Hund: Fourty Seven & Ps: Fifteen) Only	15650
3	P/F 4" dia C.I soil & vent pipe i/c cutting & fitting & extra painting to match the colour of the building. (SI No:1 P-9)	35 Rft 333.29 P.Rft (Rs: Three Hund: Thirty Three & Ps: Twenty Nine) Only	11665
4	P/F M.S clamps of the approved design to 4" dia C.I pipe sockets i/c the cost of cutting & making good to wall or M.S bolts & nuts, 4" into wall i/c pipe distance pieces extra painting to match the colour of the building. (SI No:2 P-9)	30 Nos: 72.16 Each (Rs: Seventy Two & Ps: Sixteen) Only	2165
5	P/F 4"x4" dia C.I branch of the required degree with access doors, rubber washer 3/8" thick & bolts & nuts & extra painting to match the colour of the building. (SI No:4 P-9)	15 Nos: 702.00 Each (Rs: Seventy Two) Only	10530
	P/F 24"x18" lav: basin in white glazed earthen ware complete with & including the cost of W.I. Or C.I. Contilever brackets 6 inches built into walls painted white in two coats after a primary coat of red lead paint a pair of 1/2" dia chrome plated pillar taps, 1-1/2" dia rubber plug and chrome plated brass chain 1-1/4" dia malleable iron or c.p.brass traps malleable iron or brass union and making requisite No. of holes in walls, plinth and floor for pipe connection and making good in c.c. 1:2:4 (foreign or	5 Nos. 6237.00 Each (Rs: Six Thousand two Hundred Thirty Seven Paisa) Only	31,185
7	Add extra labour for providing and fixing of earthen ware padestal white or coloured glazed (Standard Pattern) (S.I.No. 11 P-3)	5 Nos. 2533.47 Each (Rs: Twenty Five Hundred Thirty Three Rupees and Fourty Seven Paisa) Only	12,667
8	P/F steel sink stainless local make complete with cast iron or wrough iron bracksts 6" built in wall 1-1/2" rubber plug chorme brass chain 1-1/2" C.P brass waste with 1-1/2" plate PVC waste pipe and making requisite nof holes in walls and plinth floor for pipe connection and making good in c.c 1:2:4 (b) steel sink stainless sized 36"x18" local making (Standard pattern) S.I.No.19-b P-5	Rupees and Thirty Paisa) Only	10,325
9	Providing & fixing chrome plated brass towel rail complete with brackets fixing on wooden cleats with 1" long c.p brass screws.(a) 3/4" dia round or square (Standard Pattern)(II)	(Rs: One Thousand Eighty Two Rupees and	5415
, 10	Providing & fixing 15" x 12" bavelled edge mirror of belgium glass complete with 1/8" thick hard board and c.p screws fixed to wooden pleat.(a) Standard Pattern.(S.I.No.4 P-7)		5808
11	S/Fixing concealed stop cock of superior quality with Crystal head 1/2" dia (SINO.14(b) P-15)	15 Each 889.46 Each (Rs: Eight Hundred Eighty Nine Rupees and Fourty Six Palsa) Only	13,342
r	(a) S/Fixing long bib- cock of superir quality with c.p head 1/2" dia. (SINO.13 P-19)	15 Each 1109.46 Each (Rs: Elven Hundred Nine Rupees and Fourty Six Palsa) Only	16,642

No.	Manie or reem.	·		î î	1
13	Supplying & Fixing jet shower with rod of superior quality	10 Each	1142.24	Each	11,422
	single c.p head 1/2" dia (S.I.No.15 P-19)	(Rs: Elven Hund Twenty	red Forty Two Four Paisa) (
14	Providing F.C. pressure pipe with collar (Dedex or	320 Rft	188.44	P.Rft	60301
	equivalent) I/c digging the trenche to required deoth and fixing in position and jointing with rubber rings including testing to water pressure head of 200 feet.(b) 4" dia F.C. pressure pipe. (S.I.No.3 P-25)	(Rs: One Hundr Forty	ed Eighty Eigh Four Paisa) O		
15	Constructing manhole for the required dia of circular sewer	10 Nos	2524.25	P.Nos	25243
	and 7'-9" depth with walls of B.B in cement mortor 1:3 cement plastered 1:3, 1/2" thick, inside of walls and 1" (25 mm) thick over benching and channel i/c fixing C.I manhole cover with frame of clear opening 2' x 2' (610x610 mm)	(Rs: Twenty F Rupees and	ive Hundred T Twenty Five Pa		
16	Providing, Laying uPVC Pressure Pipes of Class 'C'	280 Rft	174.00	P.Rft	48720
	(equivalent make) fixing in trench i/c cutting, fitting and jointing with 'Z' joint with one rubber ring i/c testing with water to a head 91.5meter or 300 ft. 100 mm (4" dia)(S.I.No.1 P-22)	(Rs: One Hund	red Seventy Fo	our Rupees)	
	At I	Bur .		Total Rs.	305,589

No.	Name of Item.	Quar	ntity	Rate	Unit	Amount.
	C Schedule Item (E.I Work)				10	
1	Wiring for light or fan point with 3/.029 PVC insulated wire	60	Nos	1,130.00	Each	67,800
	in 20mm (3/4") PVC conduit recessed in the wall or column as required.(S.I.No.1234 P-15)	(Rs	: Eleve	n Hundred	Thirty Ru	pees Only)
2	The property of the state of th	21	Nos	985.00	Each	20,685
	20mm (3/4") channel patti on surface as required (S.I. No. 126/P-15)	(Rs:	Nine H	undred Eigh	ty Five R	upees Only)
3	Wiring for Call bell point with 3/.029 PVC insulated wire in	3	Nos	1,764.00	Each	5,292
	20mm (3/4") PVC conduit recessed in the wall or column as required (S.I. No. 128/P-15)	(Rs:	Seven	teen Hundre Onl		our Rupees
4	P/L (Main or Sub Main) PVC insulated with size 2-7/.029	300	MTR	222.00	P.MTR	66,600
	copper conductor in (3/4") dia PVC conduit recessed in the wall or column as required(SI No.10 P-2).	(Rs:	Two H	indred Twe	ty Two R	tupees Only)
5	P/L (Main or Sub Main) PVC insulated with size 2-7/.044	250	MTR	341.00	P.MTR	85,250
	copper conductor in (3/4") dia PVC conduit recessed in the wall or column as required (SI No. 12 P-2).	(Rs:	Three	Hundred Fo	rty One R	upees Only)
6	P/L (Main or Sub Main) PVC insulated with size 2-7/.064	100	MTR	641.00	P.MTR	64,100
	copper conductor in (3/4") dia PVC conduit recessed in the wall or column as required (SI No. 14 P-2).	(Rs: Six Hundred Forty One Rupees Only)				pees Only)
7	P/F B.C Bakelite angular type bittern holder (S.I.No.1 P-14)	9	Nos	69.00	Each	621
			(Rs	Sixty Nine	Rupees C	nly)
8	P/F Circuit breaker 15, 20, 30, 40, 50, 60, 75 & 100amp TP (XS-100NS) on a prepared board as required. (Si-204, P-31)	13 (Rs:	Nos Twent	2,456.00 y Four Hund Onl		31,928 Six Rupees
9	Providing & Fixing 6,10,15,20,30,40,50 & 63 amp SP(TB-	4	Nos	916.00	Each	3,664
	5S) on prepared board as required.(S.I.No.204 P-31)	(R	s: Nine	Hundred Si	xteen Ru	pees Only)
10	Providing & fixing circuit breaker 15,20,30,40,50,60,75 & 100amp TP (XS-100NS) on prepared board as required.(S.I.No.207 P-31).	1 (Rs:	Nos Nine T	9,261.00 housand Tw Rupees		9,261 d Sixty One
11	P/F Bakelite ceiling rose with two terminals (S.I.No. 228 P-	10	Nos	72.00	Each	720
	33)		(Rs:	Seventy Two	Rupees	Only)
	At (X)	h	/	Total Amo	unt Part-C	355,921

41

PART - B NON - SCHEDULE ITEMS

1	P/F A.C or	D.C	electric	beli	200/250	volts	70mm
P.	(2.3/4") impo	orted					

- 2 P/F 10amp[Polycarbonate flame retardant bell push with fancy base plate fixed in dia fabricated power coated metal board recessed in wall or column i/c connection.
- 3 P/F Mild steel bar fan clamp 15.8mm (5/8") dia suitable for RCC roof
- 4 S/F Distribution panel board of 3/8" thick sheeting double shutter to accommodate circuit breaker i/c painting with enameled paint
- 5 P/F 1-40 watt tube light complete with 40 watt 4'-0 long rod, choke, starter and pase putty with Philips components i/c necessary electric connection and fixing on wall or celling etc. complete (Philips)
- 6 P/F Energy saver (18 to 24 watts) superior quality i/c fixing on existing holder etc conplete.
- 7 P/F Hard drawn bare copper wire No.16 SWG as earth continuity conductor with any given mains or sub main in all system of wiring i/c metallic electrical accessories (1st class quality)
- 8 P/installing 140 CM (56") sweep ceiling fan with blade canopy standard length of down rod i/c connection with 14.0076" flexible wire complete as required with dimmer (millat,pak,asia, youns, climax, royal)
- 9 P/F 10amp polycarbonate flame retardant one way switch with fancy base plate fixed on die fabricated powder coated metallic board recessed in wall or column i/c connection as required (#31/2/3A Clipsal
 - (i) One Switch plate
 - (ii) Five switch plate
 - (iii) Six switch plate
- 10 P/F LED light 18/20 watt complete i/c cutting in false ceiling fixing of light with necessary connection i/c testing as philips / orient etc as required.
- 11 P/F 10 amps polycarbonate flame retardant 2-pin switch socket unit (universal) with fancy base plate fixed on die fabricated powder coated metallic board recessed in wall or column i/c connection as required (E-14U Clipsal make)

No.	name of item.	Quantity	Rate	Unit	Amount.
	P/F Earth Set With 2'x2' 1/4" copper plate buried in the ground at a depth of 10 feet or les (with slat and charcoal or earth chemical power) etc. making the pit 10 feet deep by excavation off all type of soil i/c fixing of 8-SWG copper wire in 3/4" G.I conduit complete in all respect as required.	1 Nos	11000	Each	Mas.
13	P/F Exhaust fan 280mm (12") Sweep butterfly shutter for exhaust fan complete as required this rte also i/c in cutting of wall & beam upto required site fixing exhaust fan with connection & finishing the hole with cement etc complete in all respects (is class quality)	3 Nos	3710	Each	9910.
14	P/F fancy capsule light complete with metallic body, glass shade, holder etc complete.	4 Nos	9410	Each	1360.
			Total Part "	В"	13/25/12

1

(GENERAL-ABSTRACT)

1 PART "A" CIVIL WORK.

Rs:

NON-SCHEDULE ITEM.

2287960 Rs:

PART "B" W/S & S/F.

Rs:

305,589

PART "C" E.I WORK.

Rs:

355,921

PART "C" E.I WORK. (NON-SCHEDULE ITEM).

Rs:

Total Rs.

TERMS & CONDITIONS

- * Non premium shall be allowed on item based on Market rates sanction by competent authority outside the schedule of rates enforced.
- * Nothing shall be paid for cartage of any material what so ever brought at the sight of work including the material cartage from Govt: store.
- * The material was use in the name of work of the finish redact can be got tasted from any approved Laboratory as per directed by the Executive Engineer, In charge or his representative all expenses in condition with such testing shall be born by the contractor exclusively without any re-embossment or claim against the Govt: on this account.

Enterprises

Senior Superintedent of Police

Tando Alahyar / Member

Senior Superintendent of Police

Matiari/Member

Execut

Provincial Building Hyd/Member

Assistant Engineer

Provincial Buildings (EL) Hyd/Member

Senior Superintendent of Police

Jamshoro & Chairman Procurement Committee



SENIOR SUPERINTENDENT OF POLICE JAMSHORO & CHAIRMAN

Procurement Committee
DIGP CAMP OFFICE HYDERABAD

(a)

DIGP OFFICE HYDERABAD RANGE

1st Floor Shahbaz Building Hyderabad, Tel No. 022-9200093

BIDDING DOCUMENT

REPAIR/RENOVATION WORK OF DIGP CAMP OFFICE HYDERABAD RANGE (F.Y 2017-2018)

issued to

M/s AL-ASR C

Schedule-B

	Schedule-B						
Sr. No.	o. Name of Item. Q		Rate	Unit	Amount.		
1	PART "A" CIVIL WORK.						
1	Reinforced Cement Concrete Work including All Labour & Material Except the Cost of Steel Reinforcement & its Labour for Bending & Binding which will be paid Separately. This Rate also includes All Kinds of Forms Moulds: Lifting Shuttering, Curing, Rendering & Finishing the Exposed Surface (Including Screening & Washing of Shingle) (a) R.C Work in Roof, Slab, Beams, Columns, Rafts, Lintels & Other Structural Members Laid in Situ or Precast Laid in Position Complete in All Respects (I) Ratio (1:2:4) 90 Lbs, Cement 2 Cft, Sand 4 Cft, Shingle 1/8" to 1/4" Gauge (S.I. No:-6 (a) (I) / P-17).	Rs. Three	337.00 Hundred Thirty	Cft.	858,339		
2	Fabrication of Tor Bar Steel Reinforcement for Cement Concrete including Cutting, Bending, Laying in Position, Making Joints & Fastenings including Cost of Binding Wire (Also includes Removeal of Rust from Bars) (S.I. No:- 8 (b) / P-17).	Rs. Five Thouse	5001.70 and One Point Se	P. Cwt. eventy Paisa.	1,152,292		
3	Scraping (b) Ordinary Distemper, Oil Bound Distemper or Paint on Walls (S.I. No:- 54 (b) / P-13).	4811 Sft. Rs. Two Hundred	226,88 Twenty Six Poir Paisa.	% Sft. nt Eighty Eight	10,915		
4	Removing Cement or Lime Plaster (S.I. No:- 53 / P-13).	4811 Sft. Rs. One	121.00 Hundred Twenty	% Sft.	5,821		
5	Cement Plaster 1:6 Upto 20' Feet Height (a) 1/2" Thick (S.I. No:- 13 (b) / P-52).	11530 Sft. Rs. Two Thousan	2206.60 nd Two Hundred Paisa.	% Sft. Six Point Sixty	254,421		
6	Cement Plaster 1:4 Upto 20' Feet Height (a) 3/8" Thick (S.I. No:- 11 (a) / P-52).	Rs. Two Thousa	2197.52 nd One Hundred nt Fifty Two Paiss		253,374		
7	Preparing the Surface & Painting with Matt Finish including Rubbing the Surface with Bathy (Silicon Carbide Rubbing Brick) Filling the Voids with Zink / Chalk / Plaster of Paris Mixture, Applying First Coat Premix, Making the Surface Smooth & then Painting 3 Coats with Matt Finish of Approved Make etc Complete (New Surface) (b) 2nd & Subsequent Coats (a + b) (Three Coats) (S.I. No:- 36 (b) / P-55).	Rs. Three Thous	3444.38 sand Four Hundr Thirty Eight Pais		397,137		
8	Preparing the Surface & Painting with Weather Coat including Rubbing the Surface with Rubbing Brick / Sand Paper, Filling the Voids with Chalk / Plaster of Paris & then Painting with Weather Coat of Approved Makee (b) 2nd & Subsequent Coat (Three Coats) (a + b) (S.I. No:- 38 (a + b) / P-56).	Rs. Two Thousa	2567.95 and Five Hundre Ninety Five Pair	Mark Committee of the State of	95,836		
9	Supplying & Fixing in Position Aluminium Channels Framing for Hinged Doors or Alcop Made with 5 MM Thick Tinted Glass Glazing (Belgium) & Alpha (Japan) Locks including Handles, Stoppers etc (b) Deluxe Model (Bronze) (S.I. No:- 83 (b) / P-108).	Rs. One Thousa	1507.66 and Five Hundre Sixty Six Paisa.	P. Sft. d Seven Point	556,327		
10	Fist Class Deodar Wood Wrought Joinery in Doors & Windows etc Fixed in Position including Chowkats Hold Fasts Hinges, Iron Tower Bolts, Chocks Cleats, Handles & Cords with Hooks, etc Deodar Panelled or Panelled & Glazed or Fully Glazed (b) 1-3/4" Thick (Only Shutter) (S.I. No:- 7 (b) / P-58).	Rs. Nine Hun	902.93 dred Two Point N Paisa.	P. Sft.	317,831		

No.	Name of frem.		~ 1	1		- 1
11	Providing & Fixing G.I. Frames / Chokhats of Size 7" x 2" or 4-1/2" x 3" for Windows Using 20 Gauge G.I. Sheet including Welded Hinges & Fixing @ Site with Necessary Hold Fasts, Filling with Cement Sand Slurry of Ratio 1:6 &	201 F Rs. Two	10 mm	228.90 d Twenty Eight P Paisa.	P. Rft. Point Ninety	46,009
	Repairing the Jambs. The Cost also iincludes All Carriage, Tools & Plants Used in Making & Fixing (S.I. No:- 29 / P-93).	,				
12	Pacca Brick Work other than Building including Striking of Joints Upto 20' Feet Height in (I) (e) Cement Sand Mortar 1:6 (S.I. No:- 7 (I) (e) / P-22).	1703 (Rs. Twelve	Thous	12346.65 sand Three Hund Sixty Five Paisa		210,263
13	Cement Concrete Brick or Stone Ballast 1 1/2" to 2" Gauge (b) Ratio 1:4:8 (S.I. No:- 4 (b) / P-15).	1062 (Rs. Nine T	housan	9416.28 d Four Hundred	% Cft. Sixteen Point	100,001
14	Providing & Fixing Cement Paving Blocks Flooring having Size of 197 x 97 x 60 (MM) of City / Quddra / Cobble Shape with Natural Colours, having Strength between 5000 PSI to 8500 PSI including Filling the Joints with Hill Sand & Laying in Specified Manner / Pattern & Design etc, Complete (S.I. No:-71 / P-49).	800 S Rs. One	Sft. Hundre	199.77 d Ninety Nine Po Seven Paisa.	P. Sft.	159,816
15	Dismantling Cement Concrete Reinforced Separating Reinfor Cement from Concrete Cleaning & Straightening the Same (S.I. No:- 20 / P-10).	894 (Rs. Five	2.5.46	5445.00 and Four Hundred	% Cft. d Forty Five.	48,678
16	(a) Removing door with chowket. (S.I. No:- 33-a / P-13).			142.18 red Forty Two Righteen Paisa.	P.Nos upees and	853
17	(b) Removing Window and sky light with chowkets (S.I. No:- 33-b / P-13).		Nos lundred	102.85 Two Rupees an	P.Nos	206
			~~	Paisa.	04.00	150 000
17	C.C.plain I/c placing compacting finishing & curring complete (I/c screening washing of stone aggregate without shuttering ratio 1:2:4 (SINO.5(c)P-15).	Rs. Fourt	een Th	14429.25 ousand Four Hur s and Twenty Fiv		153,239
19	P/L 2" thick topping c.c. 1:2:4 including surface finishing and dividing into panels.(SINO.16(c) P-47)			3275.50 fundred Seventy and Fifty Paisa.	% Sft Five Rupees	121,849
20	Khapriel of cement concrete 12" x 8" x 1" of approved design/shape laid flat in 1:2 grey cement mortar over a bed of 3/4" thick grey cement mortar 1:2. (S.I. No:- 39 P-38).	Rs. Eig	ht Thou	8977.90 isand Nine Hund ipees and Ninety		20,649
21	Providing and fixing deodar wooden wardrobe including boxing with back shelves, shutters drawers and brass fittings such as handles locking arranjgement, hanger rod shoe rod and mirror measuring 2' x 1' Complete as per approved design. (S.I. No:- 24 P-61).	Rs. Two	Thous	2364.63 and Three Hundr and Sixty Three		425,633

Total Rs: 5,189,489

Add 15% ala Car 38/1/4

· No					
. :	NON-SCHEDULE ITEM.	1	,	-	11000
- 1	Providing and Fixing Ceramix Hard Floor tiles with wood texture over wall facing or floor (Size 6" x 24" x 1/2" ir above) jointed in white cement and laid over bed of 3/4" thick grey cement sand motar 1:3 washing / filling of joints	2665 Sft	420	P.Sft	1135290
	with white cement etc complete in all respect.		1000		17.75)
1	2 Providing and Fixing of Granite Marble 3/4" thick size (12"x48") redish / blackish over a bed of 3/4" cement mortor ratio 1:3 i/c rubbing and polishing of the joints etc complete	36 Sft	1884	P.Sft	67752
	in all respect also i/c chemical polish.		22		2729-
	3 Supplying & Fixing Imported Wall Paper Fixed with adhesive solution over base of matt finish putti etc	830 Sft	330	P.Sft	273900
	complete in all respects (First Quality)		,		11.101
	Supplying & Fixing of Decorative False Ceiling made of	1089 Sft	406	P.Sft	442134

imported Gypsum Sheet 12mm Thick Fixed with M.S Suspension & Decorative Glass. (First Glass).
 5 Providing & Fixing English Commode Seat i/c Glazed Flushing Cistern, Nyloon Tube etc Complete. (Porta Royal

Flushing Cistern, Nyloon Tube etc Complete. (Porta Royal Classic Model 1st Quality or Equavalent).

6 Providing and Fixing Wash Basin 24"x18" i/c Padestal, C.P.

Providing and Fixing Wash Basin 24"x18" i/c Padestal, C.P Waste, Syphon System, P.V.C, Waste Pipe, Bolt Kit, Nyloon Connection etc Complete (Porta Royal Classic Model 1st Quality or Equavalent).

7 P/F Indian W.C. (Porta).

8 Providing & Fixing Bath Shower Set (Wall Mounted) i/c Telephonic Shower C.P Rods etc completed.(MASTER / SONEX OR EQUAVALENT).

36 Sft	1882	P.Sft	67752
830 Sft	330	P.Sft	273900
089 Sft	406	P.Sft	442134
5 Nos	30290	5 Each	151450
5 Nos	2675	O Each	133750
5 Nos	8992 26534	Each Each	44960 132670

Total Rs. 2381906

Sr.	Name of Item.	Quantity	V Kate		
No.	PART "B" W/S & S/F.				
1	P/F 6"x2" or 6"x3" C.I floor trap of the approved self cleaning design with a C.I screwed down gritting with or without a vent arm complete with and i/c making req: No; of holes in walls plinth & floor for pipe connection and making good in C.C 1:2:4. (SI No:20 P-6)	12 No (Rs: Two T	s: 2042.43 houd: Fourty Two 8 Three) Only	Each Ps: Fourty	24509
2	P/F in position nyloon connections complete with 1/2" dia brass stop cock with pair of brass nuts and lining joints to nyloon connection. (SI No:23 P-6)	35 No (Rs: I	s: 447.15 Four Hund: Fourty S & Ps: Fifteen) Only		15650
3	P/F 4" dia C.I soil & vent pipe i/c cutting & fitting & extra painting to match the colour of the building. (SI No:1 P-9)	35 Rft 333.29 (Rs: Three Hund: Thirty Th & Ps: Twenty Nine) Only			11665
4	P/F M.S clamps of the approved design to 4" dia C.I pipe sockets i/c the cost of cutting & making good to wall or M.S bolts & nuts, 4" into wall i/c pipe distance pieces extra painting to match the colour of the building. (SI No:2 P-9)	30 Nos: 72.16 (Rs: Seventy Two & Ps: Six		Each een) Only	2165
5	P/F 4"x4" dia C.I branch of the required degree with access doors, rubber washer 3/8" thick & bolts & nuts & extra painting to match the colour of the building. (SI No:4 P-9)	15 No (R	s: 702.00 s: Seventy Two) O	Each nly	10530
6	P/F 24"x18" lav: basin in white glazed earthen ware complete with & including the cost of W.I. Or C.I. Contilever brackets 6 inches built into walls painted white in two coats after a primary coat of red lead paint a pair of 1/2" dia chrome plated pillar taps, 1-1/2" dia rubber plug and chrome plated brass chain 1-1/4" dia malleable iron or c.p.brass traps malleable iron or brass union and making requisite No. of holes in walls, plinth and floor for pipe connection and making good in c.c. 1:2:4 (foreign or	5 No (Rs: Six Tho		Each Thirty Seven	31,185
7	Add extra labour for providing and fixing of earthen ware padestal white or coloured glazed (Standard Pattern) (S.I.No. 11 P-3)	5 Nos. 2533.47 I (Rs: Twenty Five Hundred Thirty Rupees and Fourty Seven Paisa)			12,667
8	P/F steel sink stainless local make complete with cast iron or wrough iron bracksts 6" built in wall 1-1/2" rubber plug chorme brass chain 1-1/2" C.P brass waste with 1-1/2" plate PVC waste pipe and making requisite nof holes in walls and plinth floor for pipe connection and making good in c.c 1:2:4 (b) steel sink stainless sized 36"x18" local making (Standard pattern) S.I.No.19-b P-5	(Rs: Five Th Rupe	ach 5162.30 nousand One Hundr les and Thirty Palsa	Each red Sixty Two) Only	10,325
9	Providing & fixing chrome plated brass towel rail complete with brackets fixing on wooden cleats with 1" long c.p brass screws.(a) 3/4" dia round or square (Standard Pattern)(II)	5 Nos: 1082.95 (Rs: One Thousand Eighty Two R Ninety Five Paisa) Only			5415
10	Providing & fixing 15" x 12" bavelled edge mirror of belgium glass complete with 1/8" thick hard board and c.p screws fixed to wooden pleat.(a) Standard Pattern.(S.I.No.4 P-7)		DS: 1161.60 Hundred Sixty One Sixty Paisa) Only		5808
11	S/Fixing concealed stop cock of superior quality with Crystal head 1/2" dia (SINO.14(b) P-15)	(Rs: Eight I	ach 889.46 Hundred Eighty Nin Fourty Six Palsa) O		13,342
12	(a) S/Fixing long bib- cock of superir quality with c.p head 1/2" dia. (SINO.13 P-19)		ach 1109.46 Hundred Nine Rupe Six Paisa) Only	Each es and Fourty	16,642

Sr. No.	Name of Item.	Quantity	Rate	Unit	Amount.
13	Supplying & Fixing jet shower with rod of superior quality single c.p head 1/2" dia (S.I.No.15 P-19)	10 Each (Rs: Elven Hund Twenty	11,422		
14	Providing F.C. pressure pipe with collar (Dedex or equivalent) I/c digging the trenche to required deoth and fixing in position and jointing with rubber rings including testing to water pressure head of 200 feet (b) 4" dia F.C. pressure pipe. (S.I.No.3 P-25)	FUILY	188.44 ed Eighty Eigh Four Palsa) O		60301
15	Constructing manhole for the required dia of circular sewer and 7'-9" depth with walls of B.B in cement mortor 1:3 cement plastered 1:3, 1/2" thick, inside of walls and 1" (25 mm) thick over benching and channel i/c fixing C.I manhole cover with frame of clear opening 2' x 2' (610x610 mm)	(Rs: Twenty F Rupees and	2524.25 live Hundred T Twenty Five P		25243
16	Providing, Laying uPVC Pressure Pipes of Class 'C' (equivalent make) fixing in trench i/c cutting, fitting and jointing with 'Z' joint with one rubber ring i/c testing with water to a head 91.5meter or 300 ft. 100 mm (4" dia)(S.I.No.1 P-22)	(Rs: One Hund	174.00 red Seventy F Only	P.Rft our Rupees)	48720
				Total Rs.	305,589

١	Sr.
I	No.

Name of Item.

Part-C Schedule Item (E.I Work)

- Wiring for light or fan point with 3/.029 PVC insulated wire in 20mm (3/4") PVC conduit recessed in the wall or column as required.(S.I.No.1234 P-15)
- Wiring for pug point with 3/.029 PVC insulated wire in 20mm (3/4") channel patti on surface as required (S.I. No. 126/P-15)
- Wiring for Call bell point with 3/.029 PVC insulated wire in 20mm (3/4") PVC conduit recessed in the wall or column as required (S.I. No. 128/P-15)
- 4 P/L (Main or Sub Main) PVC insulated with size 2-7/.029 copper conductor in (3/4") dia PVC conduit recessed in the wall or column as required(SI No.10 P-2).
- 5 P/L (Main or Sub Main) PVC insulated with size 2-7/.044 copper conductor in (3/4") dia PVC conduit recessed in the wall or column as required (SI No. 12 P-2).
- 6 P/L (Main or Sub Main) PVC insulated with size 2-7/.064 copper conductor in (3/4") dia PVC conduit recessed in the wall or column as required (SI No. 14 P-2).
- 7 P/F B.C Bakelite angular type bittern holder (S.I.No.1 P-14)
- 8 P/F Circuit breaker 15, 20, 30, 40, 50, 60, 75 & 100amp TP (XS-100NS) on a prepared board as required. (Si-204, P-31)
- 9 Providing & Fixing 6,10,15,20,30,40,50 & 63 amp SP(TB-5S) on prepared board as required.(S.I.No.204 P-31)
- 10 Providing & fixing circuit breaker 15,20,30,40,50,60,75 & 100amp TP (XS-100NS) on prepared board as required.(S.I.No.207 P-31).
- 11 P/F Bakelite ceiling rose with two terminals (S.I.No. 228 P-33)

- 60 Nos 1,130.00 Each 67,800 (Rs: Eleven Hundred Thirty Rupees Only)
- 21 Nos 985.00 Each 20,685 (Rs: Nine Hundred Eighty Five Rupees Only)
- 3 Nos 1,764.00 Each 5,292
 (Rs: Seventeen Hundred Sixty Four Rupees
 Only)
- 300 MTR 222.00 P.MTR 66,600 (Rs: Two Hundred Twenty Two Rupees Only)
- 250 MTR 341.00 P.MTR 85,250 (Rs: Three Hundred Forty One Rupees Only)
- 100 MTR 641.00 P.MTR 64,100 (Rs: Six Hundred Forty One Rupees Only)
- 9 Nos 69.00 Each 621
 (Rs: Sixty Nine Rupees Only)
- 13 Nos 2,456.00 Each 31,928 (Rs: Twenty Four Hundred Fifty Six Rupees Only)
- 4 Nos 916.00 Each 3,664
 (Rs: Nine Hundred Sixteen Rupees Only)
- 1 Nos 9,261.00 Each 9,261
 (Rs: Nine Thousand Two Hundred Sixty One Rupees Only)
- 10 Nos 72.00 Each 720

(Rs: Seventy Two Rupees Only)

Total Amount Part-C 355,921

Sr.	Name of Item.	Quan	div	Rate	Unit	Amount.
No.	Well and the second	Quan	Licy	Kate	-	· · · · · · · · · · · · · · · · · · ·
1	PART - B NGN - SCHEDULE ITEMS P/F A.C or D.C electric bell 200/250 volts 70mm (2.3/4") imported	3	Nos	310	Each	930
2	P/F 10amp[Polycarbonate flame retardant bell push with fancy base plate fixed in dia fabricated power coated metal board recessed in wall or column i/c connection.	3	Nos.	658	Each	1974
3	P/F Mild steel bar fan clamp 15.8mm (5/8") dia suitable for RCC roof	6	Nos.	356	Each	2136
4	S/F Distribution panel board of 3/8" thick sheeting double shutter to accommodate circuit breaker i/c painting with enameled paint	7	Sft	2672	P.Sft	18704
5	P/F 1-40 watt tube light complete with 40 watt 4'-0 long rod, choke, starter and pase putty with Philips components i/c necessary electric connection and fixing on wall or celling etc. complete (Philips)	4	Sft	1371	P.Sft	5484
6	P/F Energy saver (18 to 24 watts) superior quality i/c fixing on existing holder etc conplete.	10	Nos	493	Each	4930
7	P/F Hard drawn bare copper wire No.16 SWG as earth continuity conductor with any given mains or sub main in all system of wiring i/c metallic electrical accessories (1st class quality)		Rft	25.5	P.Rft	3829
8	P/installing 140 CM (56") sweep ceiling fan with blade canopy standard length of down rod i/c connection with 14.0076" flexible wire complete as required with dimmer (millat,pak,asia, youns, climax, royal)		Nos.	6549	Each	39290
9	P/F 10amp polycarbonate flame retardant one way switch with fancy base plate fixed on die fabricated powder coated metallic board recessed in wall or column i/c connection as required (#31/2/3A Clipsal	4	Nos.	1964	Each	7858
	(i) One Switch plate	4	Nos	455	Each	1820
	(ii) Five switch plate	2		1420	Each	2841
	(iii) Six switch plate	7	Nos	1700	Each	11900
10	P/F LED light 18/20 watt complete i/c cutting in false ceiling fixing of light with necessary connection i/c testing as philips / orient etc as required.		Nos	4608	Each	18434
11	P/F 10 amps polycarbonate flame retardant 2-pin switch socket unit (universal) with fancy base plate fixed on die fabricated powder coated metallic board recessed in wall or column i/c connection as required (E-14U Clipsal make)		Nos	2001	Each	8004

Sr. No.	, Name of Item.	Quant	ity	Rate	Unit	Amount.
12	P/F Earth Set With 2'x2' 1/4" copper plate buried in the ground at a depth of 10 feet or les (with slat and charcoal or earth chemical power) etc. making the pit 10 feet deep by excavation off all type of soil i/c fixing of 8-SWG copper wire in 3/4" G.I conduit complete in all respect as required.	1	Nos	1371	$9_{\scriptscriptstyle{Each}}$	137
13	P/F Exhaust fan 280mm (12") Sweep butterfly shutter for exhaust fan complete as required this rte also i/c in cutting of wall & beam upto required site fixing exhaust fan with connection & finishing the hole with cement etc complete in all respects (is class quality)	3	Nos	345	6 Each	103
14	P/F fancy capsule light complete with metallic body, glass shade, holder etc complete.	4	Nos	373) O Each	149
		[Total Part	"B"	=333061=

1

.

Sr. No.	Name of Item.	Quanti	y Rate	Unit	Amount.
	[GENERAL-ABSTRACT]				57647
1	PART "A" CIVIL WORK.	Rs:	5,189,489		3701
2	NON-SCHEDULE ITEM.	Rs:	23219	06	
3	PART "B" W/S & S/F.	Rs:	305,589		
4	PART "C" E.I WORK.	Rs:	355,921		
5	PART "C" E.I WORK. (NON-SCHEDULE ITEM)	. Rs:	33366	l	
		Total Rs.	9141259		
141		Says Rs.	P14/259		

TERMS & CONDITIONS

- * Non premium shall be allowed on item based on Market rates sanction by competent authority outside the schedule of rates enforced.
- * Nothing shall be paid for cartage of any material what so ever brought at the sight of work including the material cartage from Govt: store.
- * The material was use in the name of work of the finish redact can be got tasted from any approved Laboratory as per directed by the Executive Engineer, In charge or his representative all expenses in condition with such testing shall be born by the contractor exclusively without any re-embossment or claim against the Govt: on this account.

CONTRACTOR

Senior Superintedent of Police

Tando Allahyar / Member

Executive Engineer

Provincial Building Hyd/Member

Senior Superintendent of Police

Matiari/Member

Assistant Engineer

Provincial Buildings (EL) Hyd/Member

Senior Superintendent of Police

Jamshoro & Chairman Procurement Committee